Kansas Register

Vol. 43, No. 46

November 14, 2024

Pages 1589-1628

In this issue	Page
Legislative Branch	
Legislative Administrative Services	
Interim Committee Schedule for November 11 – November 29, 2024	
Rates	
Pooled Money Investment Board	
Notice of Investment Rates November 11 – November 17, 2024	
Notices	
Kansas Department of Administration – Office of Accounts and Reports	
Notice of Petroleum Storage Tank Release Trust Fund Unobligated Balances for November 2024	
Kansas Governor's Grants Program Notice of Available Grant Funding from the Federal Sexual Assault Services	
Grant Program	
Notice of Available Grant Funding from the Federal S.T.O.P. Violence Against Women Grant Program	
Wichita State University	
Notice of Intent to Lease Real Property	
Notice of Intent to Lease Real Property	
Kansas Department of Administration – Office of Facilities and Property Management	1502
Notice of Requested Architectural Services for the University of Kansas Notice of Requested On-Call Civil Engineering Services for Fort Hays State University	
Notice of Requested On-Call Mechanical-Electrical-Plumbing Engineering Services for	
Fort Hays State University	
Kansas State Board of Regents Universities Notice to Bidders for University Purchase	
Kansas Department of Administration – Office of Procurement and Contracts	
Notice to Bidders for State Purchase	
City of Lenexa, Kansas	
Notice to Bidders for Street Lighting Project – 96th Terrace (Lenexa Drive to Monrovia Street) and Monrovia Street (96th Terrace to 99th Street)	
Kansas Department of Health and Environment	
Notice of Clean Water Act Section 401 Water Quality Certification for the	
United States Army Corps of Engineers Notice of Proposed Kansas/Federal Water Pollution Control Permits and Applications	
Kansas Department for Aging and Disability Services	
Request for Comments on Amendment to the Kansas Medicaid 1915(c) HCBS	
Intellectual Development Disabilities Waiver	
Request for Comments on Amendment to the Kansas Medicaid 1915(c) HCBS Brain Injury Waiver	1601
Kansas Department of Transportation	
Request for Proposals for Design Services for Bridge Repair Project in Sedgwick County	7 1602
Request for Proposals for Design Services for Bridge Repair Project in Shawnee County.	
Request for Proposals for Underwater Bridge Inspections Statewide	
Request for Proposals for Construction Inspection Services for Projects in Multiple Counties	
Executive Branch	
Office of the Governor	
Executive Directive No. 24-591, Authorizing Personnel Transactions and Establishment	
of a Federal Fund	
State of Disaster Emergency Proclamation	
Bonds	
City of Willowbrook, Kansas	
Notice of Intent to Seek Private Placement General Obligation Bonds	
Kansas Development Finance Authority Notice of Hearing on Proposed Agricultural Development Revenue Bonds	
Regulations	
Kansas State Board of Education	
Notice of Hearing on Proposed Administrative Regulation	
Kansas Lottery	1/11
Temporary Administrative Regulations	1011

Cover Artwork: Wheat Ready to Harvest Photo by Todd Caywood

ansas Register is an official ation of the state of Kansas, ned by authority of K.S.A. The Kansas Register is pubweekly and a cumulative s published annually by the Secretary of State.

sas Secretary of State 2024. luction of the publication in irety or for commercial puris prohibited without prior sion. Official enactments of ansas Legislature and proand adopted administrative tions of state agencies may roduced in any form without sion.

t and back issues of the Kansister (HTML and PDF Format) found at https://www.sos. /publications/kansas-register.

Register Office: Floor, Memorial Hall 785-368-8095 nsasregister@ks.gov



Published by Scott Schwab Secretary of State Floor, Memorial Hall 120 SW 10th Ave. peka, KS 66612-1594 785-296-4564 https://www.sos.ks.gov

Kansas Register

State of Kansas

Legislative Administrative Services

Interim Committee Schedule

The Legislative Research Department gives notice that the following legislative committees plan to meet on the dates listed below based on current information and subject to change. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at 785-296-2391 or TTY 711, or email legserv@las.ks.gov.

November 11 through November 29, 2024

				<i>y</i> = 0 = 1
Date	Room	Time	Committee	Agenda
Nov. 13	582-N	9:00 a.m.	Joint Committee on Child Welfare Systems Oversight	https://kslegislature.gov/li/b2023_24/committees/ ctte_jt_child_welfare_ovst_1/documents/ agenda/weeklyinterim/20241113.pdf
Nov. 14	548-S	1:00 p.m.	Joint Legislative Coordinating Council	Legislative Matters
Nov. 14	582-N	9:00 a.m.	Joint Committee on Child Welfare Systems Oversight	https://kslegislature.gov/li/b2023_24/committees/ ctte_jt_child_welfare_ovst_1/documents/ agenda/weeklyinterim/20241113.pdf
Nov. 18	546-S	9:00 a.m.	Special Committee on Centralized Pooled Collateral and PMIB Modernization	No Agenda Available
Nov. 18	546-S	8:30 a.m.	Special Committee on Foreign Trade and Regulatory Sandboxes	No Agenda Available
Nov. 18	582-N	9:00 a.m.	J. Russell (Russ) Jennings Joint Committee on Corrections and Juvenile Justice Oversight	No Agenda Available
Nov. 19	546-S	9:00 a.m.	Special Committee on Centralized Pooled Collateral and PMIB Modernization	No Agenda Available
Nov. 19	548-S	8:30 a.m.	Special Committee on Foreign Trade and Regulatory Sandboxes	No Agenda Available
Nov. 19	582-N	9:00 a.m.	J. Russell (Russ) Jennings Joint Committee on Corrections and Juvenile Justice Oversight	No Agenda Available
Nov. 20	144-S	9:00 a.m.	Joint Committee on Pensions, Investments and Benefits	No Agenda Available
Nov. 20	152-S	9:00 a.m.	Special Committee on Available and Affordable Housing	No Agenda Available
Nov. 20	548-S	1:00 p.m.	Build Kansas Advisory	No Agenda Available
Nov. 20	582-S	9:00 a.m.	J. Russell (Russ) Jennings Joint Committee on Corrections and Juvenile Justice Oversight	No Agenda Available
Nov. 21	112-N	8:00 a.m.	Health Care Stabilization Fund Oversight Committee	https://kslegislature.gov/li/b2023_24/ committees/ctte_hcsf_1/documents/ agenda/weeklyinterim/20241121.pdf
Nov. 21	144-S	9:00 a.m.	Joint Committee on Fiduciary Financial Institutions Oversight	No Agenda Available
Nov. 21	582-N	9:00 a.m.	Joint Committee on Information Technology	No Agenda Available
Nov. 21	152-N	9:00 a.m.	Special Committee on Available and Affordable Housing	No Agenda Available

Tom Day Director Legislative Administrative Services

Doc. No. 052660

State of Kansas

Pooled Money Investment Board

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d) and K.S.A. 12-1675a(g).

Effective 11-11-24 through 11-17-24

Term	Rate
1-89 days	4.79%
3 months	4.47%
6 months	4.38%
12 months	4.32%
18 months	4.25%
2 years	4.15%

Joel Oliver Executive Director Chief Investment Officer Pooled Money Investment Board

Doc. No. 052644

State of Kansas

Department of Administration Office of Accounts and Reports

Public Notice

Under requirements of K.S.A. 65-34,117(c), as amended, records of the Office of Accounts and Reports show the unobligated balances are \$5,219,081.27 in the Underground Petroleum Storage Tank Release Trust Fund and \$5,838,029.77 in the Aboveground Petroleum Storage Tank Release Trust Fund at October 31, 2024.

> Jocelyn Gunter Director Office of Accounts and Reports Department of Administration

Doc. No. 052645

State of Kansas

Kansas Governor's Grants Program

Notice of Available Grant Funding

Grant funds are available from the Federal Sexual Assault Services Grant Program (SASP) for calendar year 2025. This grant program recognizes the need to place increased focus on sexual assault, rape, sex trafficking, and other severe forms of trafficking in persons who have also experienced sexual assault in order to address the lack of available direct intervention and related assistance services and the unique aspects of sexual assault trauma. Women and men of all ages, as well as children, can be victims of sexual assault. There is approximately \$980,000 available for grant awards. Available grant funds may be awarded to rape crisis centers and other nonprofit, nongovernmental organizations who are accredited by the Kansas Coalition Against Sexual and Domestic Violence or tribal programs for activities that provide rape and sexual assault services for the defined grant project purposes.

All grant applications must be submitted via the Governor's Grant Portal by 11:59 p.m., December 3, 2024. To quickly locate the grant in the Grant Portal, use "SASP" for the keyword in your search or access the 2025 SASP Solicitation at https://www.grants.ks.gov/grant-programs/ federal-sexual-assault-services-grant-program-sasp.

> Iuliene Maska Administrator Kansas Governor's Grants Program

Doc. No. 052649

State of Kansas

Kansas Governor's Grants Program

Notice of Available Grant Funding

Grant funds are available from the Federal S.T.O.P. (Services*Training*Officers*Prosecutors) Violence Against Women Grant Program for calendar year 2025 to award approximately \$3 million to support communities in their efforts to develop and strengthen effective law enforcement and prosecution strategies to combat violent crimes against women; develop and strengthen victim services in cases involving crimes against women; and promote a coordinated community response to victims of domestic violence, dating violence, sexual assault/rape, and stalking. Eligible applicants include units of state and local government; Native American Tribes; and nonprofit, community, or faith-based organizations, including underserved and culturally specific populations.

All grant applications must be submitted via the Governor's Grant Portal by 11:59 p.m., December 10, 2024. To quickly locate the grant in the Grant Portal, use "WOMEN" for the keyword in your search or access the 2025 VAWA Solicitation at https://www.grants. ks.gov/grant-programs/federal-s-t-o-p-violence-againstwomen-grant-s-t-o-p-vawa.

> **Juliene** Maska Administrator Kansas Governor's Grants Program

Doc. No. 052650

State of Kansas

Wichita State University

Notice of Intent to Lease Real Property

Public notice is hereby given that Wichita State University (WSU), directly or through its affiliate corporation Wichita State Innovation Alliance, Inc., intends to lease, subject to all required state approvals, up to 1.22 acres of real property located on the northwest corner of the intersection of Fountain Avenue and 21st Street North, directly adjacent to the Wichita State University campus. This location would be designated for private development committed to supporting broadband infrastructure and Internet exchanges. The university is interested in leasing such ground to any individual, organization, or entity whose presence would advance WSU's vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good. WSU intends to lease such space for a mutually agreeable period of time,

but extended terms and renewal options would be considered. Interested tenants must be willing to be a good fit with WSU's educational mission and identify anticipated benefits to the university, its students, and the surrounding community (i.e. applied learning, joint research, faculty start-up, WSU curriculum or program support, community benefit commitments, etc.), and must agree to the essential ground lease terms and restrictive covenants. Interested tenants will be evaluated on: proposal terms, demonstrated benefit to WSU and the surrounding community, design concepts, financial stability, and proposed use. Interested tenants will be responsible for all costs associated with the development and ongoing maintenance costs of any improvements. Rental rate shall be based on fair market value and negotiable based on term of lease, purpose/use of the improvement, and benefit to WSU. WSU will consider serious offers and inquiries from any financially qualified individual, group, organization. If interested, please contact Property Manager Crystal Stegeman at crystal.stegeman@wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

> Crystal Stegeman University Property Manager Office of the Vice President for Administration and Finance Wichita State University

Doc. No. 052352

State of Kansas

Wichita State University

Notice of Intent to Lease Real Property

Public notice is hereby given that Wichita State University (WSU), directly or through its affiliate corporation Wichita State Innovation Alliance, Inc., intends to lease, subject to all required state approvals, up to four acres of real property located on the Wichita State University's campus designated as the "Innovation Campus," for the private development and operation of a partnership building or buildings. The university is interested in leasing such ground to any individual, organization, or entity whose presence on campus would advance the university's applied learning vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good. The university intends to lease such space for a mutually agreeable period of time up to sixty years, but extended terms and renewal options would be considered. Interested tenants must be willing to be a good fit with the university's educational mission and identify anticipated benefits to the university, its students, and the WSU community (i.e. applied learning, joint research, faculty start-up, WSU curriculum or program support, etc.), and must agree to the essential ground lease terms and restrictive covenants. Interested tenants will be evaluated on: proposal terms, demonstrated benefit to WSU, design concepts, financial stability, and proposed use. Interested tenants will be required to construct adjacent and adequate surface parking that will not be included in the leased ground. Rental rate shall

be based on fair market value and negotiable based on term of lease, purpose/use of building improvement, and benefit to the university. The university will consider serious offers and inquiries with detailed proposal terms from any financially qualified individual, group, organization. If interested, please contact Senior Vice President for Industry and Defense Programs, Dr. John Tomblin at john.tomblin@wichita.edu or Property Manager Crystal Stegeman at crystal.stegeman@ wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

> Crystal Stegeman University Property Manager Office of the Vice President for Administration and Finance

Doc. No. 052353

State of Kansas

Department of Administration Office of Facilities and Property Management

Notice of Requested Architectural Services

Notice is hereby given of the commencement of the selection process for architectural and engineering services for the University of Kansas (KU) School of Architecture and Design New Building and Renovations. The university is seeking comprehensive design proposals for a multiphase building project that presents a rare opportunity to advance the school into a vibrant and ambitious future. This initiative aims to establish a sustainable complex featuring a new iconic mass timber building that is filled with natural light designed to foster collaboration and unite KU Architecture and Design programs while promoting creativity and interdisciplinary interactions on the greater campus. Furthermore, the project will streamline the school's existing programs into fewer buildings with enhanced facilities and create additional spaces to attract exceptional students and faculty from all over the world, accommodate innovative and emerging academic programs, and support the expansion and enhancement of its current highly accomplished offerings. The design and construction phases will be guided by the recently completed concept design of the school, which includes the envisioned building linked to Marvin Hall and Chalmers Hall (Phase 1), as well as renovations to segments of historic Marvin Hall and the Marvin Bridge (Phase 2) and the adaptive reuse of Chalmers Hall (Phase 3). This project represents a significant transformation for the School of Architecture and Design, and we seek a highly acclaimed design team to oversee all phases, ensuring cohesive design throughout. Construction Budget for all phases is \$109,243,000.

The program statement is pending board approval and will be posted upon approval at https://admin.ks.gov/ offices/facilities-property-management/design-construction--compliance/architectural--engineering-programs. For more information contact Mark Reiske at dcmmlr@ ku.edu or 785-864-5644.

To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Quali-(continued) fications DCC Forms 051-054, inclusive, and information regarding similar projects. These forms may be found at https://admin.ks.gov/offices/facilities-property-management/design-construction--compliance/forms-and-documents. State of Kansas Professional Qualifications DCC Form 050 for each firm and consultant should be provided at the end of each proposal. Please include your firm name, agency abbreviation, and an abbreviated project name in the title of the PDF document. Proposals should be less than 5 Mb and follow the current State Building Advisory Commission guidelines which can be found in Part B-Chapter 2 of the Building Design and Construction Manual at https://admin.ks.gov/offices/facilities-property-management/design-construction--compliance/building-design-and-construction-manual-bdcm. Paper copies and flash drives containing copies of the proposals are not required.

Proposals should be sent to professional.qualifications@ ks.gov. Proposals received after the date and time noted below will not be forwarded to the State Building Advisory Commission for review. If you have questions about the proposal submissions, please contact Randy Riveland at randy.riveland@ks.gov or call 785-296-0749. The PDF proposal submissions shall be delivered to the attention of the State Building Advisory Commission by 2:00 p.m. on or before Monday December 2, 2024.

The State of Kansas, as a matter of public policy, encourages anyone doing business with the State of Kansas to take steps to discourage human trafficking. If prospective bidders/vendors/contractors have any policies or participate in any initiatives that discourage human trafficking, then the prospective bidder/vendor/contractor is encouraged to submit same as part of their bid response.

> Barbara Schilling Deputy Director-DCC Office of Facilities and Property Management Department of Administration

Doc. No. 052663 State of Kansas

Department of Administration Office of Facilities and Property Management

Notice of Requested On-Call Engineering Services

Notice is hereby given of the commencement of the selection process for on-call civil engineering services for Fort Hays State University. Services are required for restricted (small) projects with a project budget of \$1,500,000 or less. One firm will be selected. The contracts will be for three years with two one-year renewal options.

For more information, contact Dana Cunningham at dacunningham@fhsu.edu or 785-628-4424.

Firms interested in providing these services should be familiar with the requirements which can be found in Part B-Chapter 4 of the Building Design and Construction Manual at the website below. To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Qualifications DCC Forms 051-054, inclusive, and information regarding similar projects. These forms may be found at https://admin.ks.gov/ offices/facilities-property-management/design-construction--compliance/forms-and-documents. State of Kansas Professional Qualifications DCC Form 050 for each firm and consultant should be provided at the end of each proposal. Please include your firm name, agency abbreviation, and an abbreviated project name in the title of the PDF document. Proposals should be less than 5 Mb and follow the current State Building Advisory Commission guidelines which can be found in Part B – Chapter 2 of the Building Design and Construction Manual at https://admin.ks.gov/offices/facilities-property-management/design-construction--compliance/building-design-and-construction-manual-bdcm.

Proposals should be sent to professional.qualifications@ ks.gov. Proposals received after the date and time noted below will not be forwarded to the State Building Advisory Commission for review. If you have questions about the proposal submissions, please contact Randy Riveland at randy.riveland@ks.gov or call 785-296-0749. The PDF proposal submissions shall be delivered to the attention of State Building Advisory Commission by 2:00 p.m. on or before December 1, 2024.

The State of Kansas, as a matter of public policy, encourages anyone doing business with the State of Kansas to take steps to discourage human trafficking. If prospective bidders/vendors/contractors have any policies or participate in any initiatives that discourage human trafficking, then the prospective bidder/vendor/contractor is encouraged to submit same as part of their bid response.

> Barbara Schilling Deputy Director-DCC Office of Facilities and Property Management Department of Administration

Doc. No. 052664

State of Kansas

Department of Administration Office of Facilities and Property Management

Notice of Requested On-Call Engineering Services

Notice is hereby given of the commencement of the selection process for on-call mechanical-electrical-plumbing engineering services for Fort Hays State University. Services are required for restricted (small) projects with a project budget of \$1,500,000 or less. One firm will be selected. The contracts will be for three years with two one-year renewal options.

For more information, contact Dana Cunningham at dacunningham@fhsu.edu or 785-628-4424.

Firms interested in providing these services should be familiar with the requirements which can be found in Part B-Chapter 4 of the Building Design and Construction Manual at the website below. To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Qualifications DCC Forms 051-054, inclusive, and information regarding similar projects. These forms may be found at https://admin.ks.gov/ offices/facilities-property-management/design-construction—compliance/forms-and-documents. State of Kansas Professional Qualifications DCC Form 050 for each firm and consultant should be provided at the end of each proposal. Please include your firm name, agency abbreviation, and an abbreviated project name in the title of the PDF document. Proposals should be less than 5 Mb and follow the current State Building Advisory Commission guidelines which can be found in Part B – Chapter 2 of the Building Design and Construction Manual at https://admin.ks.gov/offices/facilities-property-management/design-construction—compliance/building-design-and-construction-manual-bdcm.

Proposals should be sent to professional.qualifications@ ks.gov. Proposals received after the date and time noted below will not be forwarded to the State Building Advisory Commission for review. If you have questions about the proposal submissions, please contact Randy Riveland at randy.riveland@ks.gov or call 785-296-0749. The PDF proposal submissions shall be delivered to the attention of State Building Advisory Commission by 2:00 p.m. on or before December 1, 2024.

The State of Kansas, as a matter of public policy, encourages anyone doing business with the State of Kansas to take steps to discourage human trafficking. If prospective bidders/vendors/contractors have any policies or participate in any initiatives that discourage human trafficking, then the prospective bidder/vendor/contractor is encouraged to submit same as part of their bid response.

> Barbara Schilling Deputy Director-DCC Office of Facilities and Property Management Department of Administration

Doc. No. 052665

State of Kansas

Board of Regents Universities

Notice to Bidders

The universities of the Kansas Board of Regents encourage interested vendors to visit the various universities' purchasing offices' websites for a listing of all transactions, including construction projects, for which the universities' purchasing offices, or one of the consortia commonly utilized by the universities, are seeking information, competitive bids, or proposals. The referenced construction projects may include project delivery construction procurement act projects pursuant to K.S.A. 76-7,125 et seq.

Emporia State University – Bid postings: https://www. emporia.edu/about-emporia-state-university/businessoffice/purchasing. Additional contact info: phone: 620-341-5137, email: purchaseorders@emporia.edu. Mailing address: Emporia State University Purchasing, Campus Box 4021, 1 Kellogg Cir., Emporia, KS 66801.

Fort Hays State University – Electronic bid postings: http://www.fhsu.edu/purchasing/bids. Additional contact info: phone: 785- 628-4251, email: purchasing@ fhsu.edu. Mailing address: Fort Hays State University Purchasing Office, 601 Park St., Sheridan Hall 318, Hays, KS 67601.

Kansas State University – Bid postings: https:// bidportal.ksu.edu. Effective August 1, 2023, all bids, quotes, or proposals must be submitted via the Kansas State University Bid Portal at https://bidportal.ksu.edu. Division of Financial Services/Purchasing, 2323 Anderson Ave., Kansas State University, Manhattan, KS 66506. Additional contact information, phone: 785-532- 6214, email: kspurch@k-state.edu.

Pittsburg State University – Bid postings: https:// www.pittstate.edu/office/purchasing. Additional contact info: phone: 620-235-4167, email: purch@pittstate.edu. Mailing address: Pittsburg State University, Purchasing Office, 1701 S. Broadway, Pittsburg, KS 66762.

University of Kansas – Electronic bid postings: http:// www.procurement.ku.edu/. The University of Kansas exclusively uses the online eBid tool and will no longer accept paper responses unless otherwise specified in a solicitation. Additional contact information, email: purchasing@ku.edu. Mailing address: University of Kansas, Procurement Department, 1246 W. Campus Road Room 20, Lawrence, KS 66045.

University of Kansas Medical Center – Electronic bid postings: https://www.kumc.edu/finance/supply-chain/ bid-opportunities.html. Additional contact information, phone: 913-588-1117, email: hunkemoore@kumc.edu. The University of Kansas Medical Center accepts only electronic bids.

Wichita State University – Bid postings: https://www. wichita.edu/services/purchasing/Bid_Documents/Bid Documents.php. Additional contact information, phone: 316-978-3080, fax: 316-978-3738, email: purchasing.office@ wichita.edu. Mailing address: Wichita State University, Office of Purchasing, 1845 Fairmount Ave., Campus Box 38, Wichita, KS 67260-0038.

> Jim Hughes Director of Purchasing Pittsburg State University

Doc. No. 052485

State of Kansas

Department of Administration Office of Procurement and Contracts

Notice to Bidders

Sealed bids for items listed will be received by the Office of Procurement and Contracts until 2:00 p.m. on the date indicated. For more information, call 785-296-2376.

All bids are to be submitted via email only to procurement@ks.gov. For more information, please visit https://supplier.sok.ks.gov/psc/sokfsprdsup/SUPPLIER/ ERP/c/SCP_PUBLIC_MENU_FL.SCP_PUB_BID_CMP_ FL.GBL.

11/11/2024	EVT0009934	Engineering Consultant Services
11/27/2024	EVT0009977	Qualified Residential Treatment
		Programs
11/28/2024	EVT0009985	Employee Assistance Program
11/29/2024	EVT0009961	Janitorial Services – Colby KDLEX
		Office
12/03/2024	EVT0009984	Challenge Coin
12/04/2024	EVT0009989	V-Hull, Aluminum Work Boat
12/05/2024	EVT0009987	Janitorial Services – Olathe Scale
		Houses
12/06/2024	EVT0009950	Janitorial Services – Troop D
		Hays, Kansas
		(continued)

© Kansas Secretary of State 2024

12/06/2024	EVT0009982	Optometry Services
12/10/2024	EVT0009986	Janitorial Services – MRC Topeka
12/10/2024	EVT0009993	Computer Based Training
12/10/2024	EVT0009995	Statewide Lab Supplies and
		Instrumentation
12/11/2024	EVT0009981	Kansas Department of Commerce
		2026 World Cup Representative
12/11/2024	EVT0009990	Master Data management and
		Data Analytics
12/12/2024	EVT0009996	Laboratory Information
		Management System (LIMS)
12/16/2024	EVT0010004	Land Reclamation and AG Liming
		Services

The above referenced bid documents can be down-loaded at the following website:

https://supplier.sok.ks.gov/psc/sokfsprdsup/SUPPLIER/ ERP/c/SCP_PUBLIC_MENU_FL.SCP_PUB_BID_CMP_ FL.GBL

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

https://admin.ks.gov/offices/procurement-contracts/ bidding--contracts/additional-bid-opportunities

11/21/2024	A-014771	Classroom Renovations
		Eisenhower Hall
11/25/2024	A-014960	Colby District Office Building
11/26/2024	A-015174	New Construction Kanopolis
		Center
12/02/2024	A-015053	Bathroom Remodel Moore Hall

Information regarding prequalification, projects, and bid documents can be obtained at 785-296-8899 or http://admin.ks.gov/offices/ofpm/dcc.

Todd Herman Director Office of Procurement and Contracts Department of Administration

Doc. No. 052656

(Published in the Kansas Register November 14, 2024.)

City of Lenexa, Kansas

Notice to Bidders

Sealed bids for 2024 CDBG Street Lighting Project–96th Terrace (Lenexa Drive to Monrovia Street) and Monrovia Street (96th Terrace to 99th Street) will be accepted until 10:00 a.m. (Central Time) December 10, 2024, by the City of Lenexa, Kansas at the Community Development Department, Lenexa City Hall, 17101 W. 87th St. Pkwy., Lenexa, KS 66219, at which time bids will be publicly opened and read aloud at the Lenexa City Hall. Any bid received after the designated closing time will not be considered and will be returned unopened.

All bids shall be submitted to the Community Development Department Customer Service Staff (Main Level) in sealed envelopes addressed to the City of Lenexa, Kansas, Attention: City Clerk, and marked "Bid for 2024 CDBG Street Lighting Project–96th Terrace (Lenexa Drive to Monrovia Street) and Monrovia Street (96th Terrace to 99th Street) Copies of plans, specifications, bidding documents and other contract documents are on file at Drexel Technologies, Inc., 10840 W. 86th St., Lenexa, KS 66214. Bidders desiring contract documents for use in preparing bids may obtain a set of such documents at the address above. Plans and specifications may be downloaded from the Drexel Technologies, Inc. website at http:// planroom.drexeltech.com/. Note: Davis Bacon wage rates apply to this project. Each bidder will be responsible for ensuring that it has received any and all addenda issued by the city in accordance with IB-10 of the Instructions to Bidders.

Contractors should read and be fully familiar with all contract documents including addenda before submitting a bid. In submitting a bid, the bidder warrants that it has read the contract documents and is fully familiar therewith and that it has visited the site of the work to fully inform itself as to all existing conditions and limitations and shall include in its bid a sum to cover the cost of all items of the work as specified in the contract documents.

No oral telegraphic, telephonic proposals, or alterations will be considered. Facsimile transmissions will not be accepted.

The following items must be included in the sealed envelope with the bid:

- a. Bid form;
- b. 5% Bid security Bid bond, cashier's check, or certified check (see below); and
- c. Acknowledgment of addenda issued by the city.

Each bidder shall file with its bid a bid bond, a cashier's check, or a certified check drawn on an acceptable bank, made payable to the City of Lenexa, Kansas, in an amount equal to five percent (5%) of the total bid, which shall be retained by the City of Lenexa, Kansas until a contract for the project has been executed. Bid bonds will be returned to the bidders, with the exception of the best and lowest and second best and second lowest responsible bidders, within twenty-one (21) days after their bids are rejected. The bid deposit of the lowest and the second lowest responsible bidders will be returned when the performance bond, maintenance bond, and statutory bond, each in an amount equal to 100% of the contract amount. Required insurance certificates and other required documents shall have been furnished and the contract documents have been executed by the successful bidder.

In the event the low bidder is unable to execute the contract, for whatever reason, within the time provided in the Notice of Award, the city may annul the Notice of Award and the bid deposit may be forfeited and the city shall exercise its legal prerogatives, including, but not limited to, enforcement of its rights as to the bid security or specific performance.

The city reserves the right to accept or reject any and all bids and to waive any technicalities or irregularities therein. Bids may be modified or withdrawn by written request of the bidder received in the office of the city clerk, prior to the time and date for bid opening.

From and after the release of this notice, any party intending to bid on the above referenced project, including their officers, employees, agents, or contractors are specifically prohibited from communicating with any elected or appointed official of the city, directly or indirectly, with regard to the award of the contract for the project listed above, except as specifically authorized by the Instructions to Bidders. Any such unauthorized communication may result in the automatic disqualification of such bidder.

All bidders agree that rejection shall create no liability on the part of city because of such rejection, and the filing of any bid in response to this notice shall constitute an agreement of the bidder to these conditions.

A pre-bid conference will be held at 10:00 a.m. December 3, 2024, in the Lenexa City Hall, Santa Fe Conference Room, 17101 W. 87th St. Pkwy., Lenexa, KS 66219.

Jennifer Martin City Clerk City of Lenexa, Kansas

Doc. No. 052631

State of Kansas

Department of Health and Environment

Notice of Water Quality Certification

The Kansas Department of Health and Environment (KDHE) has drafted a water quality certification per Section 401 of the Clean Water Act (CWA) as requested by the United States Army Corps of Engineers (USACE) Environmental Resources Section. A Power Point presentation containing a summary of the activities for the Tuttle Creek Reservoir Water Injection Dredging Demonstration Project can be found at https://usace.contentdm. oclc.org/utils/getfile/collection/p16021coll7/id/25655. The objective is to investigate the feasibility and potential positive and negative environmental outcomes from injecting water into the basin of the lake to restore storage. The USACE would calculate flow regimes of the lake to meter out sediment into the Big Blue River and ultimately the Kanas River. Willow Lake below the dam may also be impacted. Pre-project water quality, basin and biological condition data have been collected from in-lake, lake inlets, and downstream into both rivers. An adaptive management plan has also been developed to address extreme weather conditions or other circumstances that may jeopardize the integrity of the demonstration including environmental impacts.

The draft conditional 401 certification will be posted on the KDHE website at https://www.kdhe.ks.gov/1095/ Section-401-Water-Quality-Certification on or before November 14, 2024. Persons wishing to comment on the referenced draft document must submit their comments in writing by email to the Kansas Department of Health and Environment at KDHE.NPS@ks.gov by December 14, 2024, if they wish to have their comments considered in the formulation of final determinations for 401 regarding this public notice. For more information, contact Scott Satterthwaite, Watershed Management Section, Bureau of Environmental Field Services, KDHE at Scott.Satterthwaite@ks.gov or KDHE.NPS@ks.gov.

> Janet Stanek Secretary Department of Health and Environment

Doc. No. 052648

State of Kansas

Department of Health and Environment

Notice of Propose Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57a through 63, 28-18-1 through 17, 28-18a-1 through 31 and 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations, and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation, and reissuance of the designated permit or termination of the designated permit.

Las acciones propuestas con respecto a los documentos preliminares se basan en la revisión del personal, aplicando los estándares, regulaciones y limitaciones de efluentes apropiados del estado de Kansas y de la Agencia de Protección Ambiental de Estados Unidos. La acción final resultará en la emisión de una Autorización Federal del Sistema Nacional de Eliminación de Descargas de Contaminantes y un permiso de Control de Contaminación del Agua de Kansas, sujeto a ciertas condiciones, revocación y reemisión del permiso designado o terminación del permiso designado. Si desea obtener más información en español o tiene otras preguntas, por favor, comuníquese con el Coordinador de No Discriminación al 785-296-5156 o en: KDHE.NonDiscrimination@ks.gov.

Public Notice No. KS-AG-24-354/366

Pending Permits for Confined Feeding Facilities

Name and Address of Applicant	Legal Description	Receiving Water
4S Feeders Edward Schneider 1965 Avenue K Kanopolis, KS 67454	SE/4 of Section 19 T15S, R07W Ellsworth County	Smoky Hill River Basin

Kansas Permit No. A-SHEW-C001 Federal Permit No. KS0097675

The proposed action is to modify and reissue the existing State/NPDES permit for a facility for a maximum capacity of 3,999 head (3,999 animal units) of cattle weighing greater than 700 pounds. There is no change in the permitted number of animal units. The permittee is requesting reapproval of the previously approved 13.25 acres of pens, feed storage area, and settling basin. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Chaffee Farms Mike Chaffee 2008 11th Rd. Clay Center, KS 67432	NE/4 of Section 18 & NW/4 of Section 17 T09S, R04E Clay County	Lower Republican River Basin

Kansas Permit No. A-LRCY-S022

The proposed action is to reissue an existing state permit for an existing facility for 1,920 head (768 animal units) of swine more than 55 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Ferguson Dairy/ ZY Farm	SW/4 of Section 30 T02S, R15W	Solomon River Basin

1042 120 Rd. Smith County Kensington, KS 66951

Kansas Permit No. A-SOSM-M002

The proposed action is to reissue an existing state permit for an existing facility for 275 head (137.5 animal units) of cattle weighing less than 700 pounds, and 250 head (350 animal units) of mature dairy cattle, for a total of 487.5 animal units. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
J. M Georg, Inc. Jay Georg	SW/4 of Section 24 T18S, R19W	Upper Arkansas River Basin
2129 K-96 Hwy	Rush County	

Kansas Permit No. A-UARH-B006

Rush Center, KS 67575

The proposed action is to reissue an existing state permit for an existing facility for of 150 head (150 animal units) of cattle more than 700 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Nelson Hog Farms, LLC – Site C 2087 Road E9 Almena, KS 67622	NW/4 of Section 17 T01S, R21W Norton County	Upper Republican River Basin

Kansas Permit No. A-URNT-H004 Federal Permit No. KS0094111

The proposed action is to reissue an existing NPDES permit for an existing facility for 7,680 head (3,072 animal units) of swine weighing more than 55 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Schumacher Trust Charolais & Red Angus 1855 B 250th Ave. Hays, KS 67601	NE/4 of Section 04 T135, R18W Ellis County	Smoky Hill River Basin

Kansas Permit No. A-SHEL-B007

The proposed action is to reissue an existing state permit for an existing facility for 125 head (125 animal units) of cattle weighing more than 700 pounds and 348 head (174 animal units) of cattle weighing less than 700 pounds; for a total of 299 animal units of cattle. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Tom Schultejans 1230 M4 Rd.	SE/4 of Section 06 T04S, R13E	Missouri River Basin
Goff, KS 66428	Nemaha County	

Kansas Permit No. A-MONM-S030

The proposed action is to reissue an existing state permit for an existing facility for a maximum capacity of 900 head (360 animal units) of swine more than 55 pounds, 10 head (10 animal units) of cattle more than 700 pounds, and 50 head (25 animal units) of cattle 700 pounds or less, for a total of 395 animal units of swine and cattle. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Trinity Feedyard, LLC 1805 W. Annie Scheer Rd. Garden City, KS 67846	S/2 of Section 24 T25S, R33W	Upper Arkansas River Basin
Kansas Permit No. A-UAFI-C008 Federal Permit No. KS0115703		

The proposed action is to reissue an existing State/NPDES permit for an existing facility for 88,000 head (88,000 animal units) of cattle weighing more than 700 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Unruh Farms 455 320th Rd. Durham, KS 67438	NE/4 of Section 34 T17S, R01E Marion County	Neosho River Basin

Kansas Permit No. A-NEMN-B027

The proposed action is to reissue an existing state permit for an existing facility for 55 head (55 animal units) of cattle more than 700 pounds and 55 head (27.5 animal units) of cattle 700 pounds or less, for a total of 82.5 animal units. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
3MK Pork, LLC 2108 Madison Rd.	NE/4 of Section 17 T02S, R03E	Big Blue River Basin
Washington, KS 66968	Washington County	

Kansas Permit No. A-BBWS-H002 Federal Permit No. KS0089681

The proposed action is to approve an update to the Nutrient Management Plan (NMP) received for this existing facility currently permitted for 8,000 head (3,200 animal units) of swine weighing more than 55 pounds. The facility's NMP was updated to include the addition of a new land application fields and changes to application rate limitations. There are no changes to the permit or in the permitted number of animal units. Only the updated portion of the Nutrient Management Plan is subject to comment. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Cottonwood Hog Farm 2901 NW 60th St. Hesston, KS 67114	SE/4 of Section 24 T22S, R01W Harvey County	Little Arkansas River Basin

Kansas Permit No. A-LAHV-H002 Federal Permit No. KS0094331

The proposed action is to approve an update to the Nutrient Management Plan (NMP) received for this existing facility currently permitted for 4,200 head (1,680 animal units) of swine weighing more than 55 pounds. The facility's NMP was updated to include updated application rate limitations for their fields. The application rate limitation for one field has become less restrictive than the previous NMP. There are no changes to the permit or in the permitted number of animal units. Only the updated portion of the Nutrient Management Plan is subject to comment. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
GJL Farms, LLC – Asherville 3782 K Rd.	NE/4 of Section 27 T07S, R06W Mitchell County	Solomon River Basin

Beloit, KS 67420 Kansas Permit No. A-SOMC-H004

Federal Permit No. KS0118117

The proposed action is to approve an update to the Nutrient Management Plan (NMP) received for this existing facility currently permitted for 5,000 head (2,000 animal units) of swine weighing more than 55 pounds. The facility's NMP was updated to include a change in the application rate limitation for their fields. The application rate limitation for one field has become less restrictive than the previous NMP. There are no changes to the permit or in the permitted number of animal units. Only the updated portion of the Nutrient Management Plan is subject to comment. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Henry Creek Farms, Inc. 10636 NW 110th St. Whitewater, KS 67154	SW/4 of Section 06 T24S, R04E Butler County	Walnut River Basin
Kancas Permit No. A.W.	ABL HOO1	

Kansas Permit No. A-WABU-H001 Federal Permit No. KS0089451

An update to the Nutrient Management Plan (NMP) was received for this existing facility currently permitted for 2,918 head (291.8 animal units) of swine weighing more than 55 pounds and 3,480 head (1,392 animal units) of swine weighing 55 pounds or less and 500 head (250 animal units) of cattle weighing 700 pounds or less; for a total of 1933.8 animal units. The facility's NMP was updated to include less-limiting rate limitation change for one field. There are no changes to the permit or in the permitted number of animal units. Only the updated portions of the Nutrient Management Plan are subject to comment. This facility has an approved Nutrient Management Plan on file with KDHE.

Public Notice No. KS-Q-24-232/240

The requirements of the draft permit public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-g), and Federal Surface Water Criteria.

Name and Address of Applicant	Receiving Stream	Type of Discharge
1880 Enterprises, LLC 1215 W. 13th St., Suite 250 Kansas City, MO 64101	Marais des Cygnes River via Elm Branch Creek via Unnamed Tributary	Process Wastewater

Permit No. I-MC10-PO02 Federal Permit No. KS0100650

Legal Description: SW¼, NW¼, SE¼ of Section 27, Township 18S, Range 23E, Miami County

Location: 38.44989, -94.85097

The proposed action consists of reissuing the above referenced NPDES permit. This site was previously operated by Miami County. This is a limestone quarrying and crushing operation which may have occasional rock washing. Outfalls 001A, 002A and 003A consists of stormwater runoff and pit water. All wastewater from the rock washing operation will be recycled and not discharged. This permit contains generic language to project water quality.

Name and Address of Applicant	Receiving Stream	Type of Discharge
AGCO Corporation 4205 Green River Pkwy. Duluth, GA 30096		Process Wastewater

Permit No. P-SO05-OO01 Federal Permit No. KSP000095

Legal Description: Mitchell County

Location: 39.45524, -98.08619

The proposed action consists of reissuing the above referenced Pretreatment permit. Only minor changes were made to the permit. This facility manufactures farm tillage equipment and performs conversion coating (iron phosphating) on steel parts, prior to painting the parts, using a three-stage washer. Outfall 001 consists of process and rinse wastewater from the three-stage washer. Outfall 002 and Outfall 003 no longer exist. This permit contains generic language to protect water quality.

Name and Address of Applicant	Receiving Stream	Type of Discharge
BNSF Railway Co. 920 SE Quincy PO Box 1738 Topeka, KS 66619		Process Wastewater

Permit No. I-KS72-PO01 Federal Permit No. KS0001694

Legal Description: Shawnee County

Location: 39.06128, -95.65976

This action consists of renewal of an existing NPDES/ Kansas Water Pollution Control (KWPC) permit for an existing facility. Wastewater generated from railroad locomotive and rail car service and maintenance, including parts cleaning and degreasing, surface preparation and painting, metal fabrication, machining, fueling and washing, and storm water run-off from the areas affected by industrial activity, is treated in a wastewater treatment plant (WWTP). This permit contains limits for Oil and Gas, Total Suspended Soils, TMDL Phosphorus, and pH. The permit contains monitoring for Flow – MGD, Total Phosphorus, and Priority Pollutant Scan.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Ellsworth, City of 1st and Kansas PO Box 163 Ellsworth, KS 67439	Smoky Hill River via Oak Creek	Treated Domestic
	201	

Permit No. M-SH07-OO01 Federal Permit No. KS0085693

Legal Description: NE¼, SE¼, NW¼, Section 22, Township 15S, Range 8W, Ellsworth County

Location: 38.73584, -98.19951

The proposed action consists of reissuance of a Kansas/NPDES Water Pollution Control permit for an existing facility. The existing facility is a complete mix aeration basin and clarifier followed by a fourcell wastewater stabilization lagoon system with 120 days detention time. The facility receives domestic wastewater from residential and commercial areas and industrial wastewater from local manufacturers. The permit will include a schedule of compliance for completion of the proposed project to convert to a non-discharging system. The following compliance dates will be included and enforceable under the permit. Final Plans and Specifications submitted to KDHE for review and approval by December 31, 2025. Construction of the Improvements project shall begin by July 1, 2026. Project completion shall be completed by September 30, 2027. This permit contains limits for Biochemical Oxygen Demand, Total Suspended Soils, Ammonia, and E. coli. The permit contains monitoring for pH, Total Phosphorus, Nitrates + Nitrites, Total Kjeldahl Nitrogen, Total Nitrogen, Chlorides, and Sulfates.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Overbrook, City of PO Box 288 Overbrook, KS 66524-	Pomona Reservoir via Valley Brook Creek	Treated Domestic

(continued)

Vol. 43, No. 46, November 14, 2024

Permit No. M-MC32-OO01

Federal Permit No. KS0046451

Legal Description: NW¼, SW¼, SW¼, Section 5, Township 15S, Range 17E, Osage County

Location: 38.77010, -95.55549

The proposed action consists of reissuance of a Kansas/NPDES Water Pollution Control permit for an existing facility. The existing facility is a four cell wastewater stabilization lagoon system with a minimum of 120 days detention time. The facility receives domestic wastewater from residential and commercial areas. The permit will include reference to the Consent Order that extends the schedule of compliance for upgrades to the facility to convert to non-discharging. This NPDES discharging lagoon wastewater treatment facility has been reviewed for eligibility for the MDV for ammonia and has been determined to be eligible. Eligibility was determined through analysis of the facility's highest attainable criteria (HAC) for ammonia. The ammonia effluent limit was determined on July 2, 2024 by calculating the 99th percentile ammonia value from the facility's discharge monitoring reports resulting in an ammonia limit of 10.1 mg/L for this facility. The 99th percentile decreased during the current permit cycle resulting in a lower limit for the proposed permit. This permit contains limits for Biochemical Oxygen Demand, Total Suspended Soils, and Ammonia. The permit contains monitoring for pH, E. coli, Total Phosphorus, Nitrates + Nitrites, Total Kjeldahl Nitrogen, and Total Nitrogen.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Salina, City of 300 W. Ash St. PO Box 736 Salina, KS 67402	Smoky Hill River	Treated Domestic
Permit No. M-SH33-IC Federal Permit No. KS		

Legal Description: SE¹/4, NE¹/4, NW¹/4, Section 8, Township14S, Range 2W, Saline County

Location: 38.85369, -97.56844

The proposed action consists of reissuance of a Kansas/NPDES Water Pollution Control permit for an existing facility. The existing facility is a mechanical wastewater treatment plant consisting of: screening and grit removal, four primary clarifiers, four single stage trickling filters (not in service), four intermediate clarifiers (not in service), three activated sludge nitrification basins, three final clarifiers, UV disinfection, reaeration, gravity belt sludge thickener, two stage anaerobic sludge digestion, sludge drying beds, liquid sludge loadout, and belt filter press. The final total phosphorus load and nitrate + nitrite concentration limits shall be effective in accordance with the consent order. The limits will be enforceable 12 months after effective. This permit contains limits for Carbonaceous Biochemical Oxygen Demand, Total Suspended Soils, pH, Ammonia, E. coli, and Chronic Whole Effluent Toxicity. The permit contains monitoring for Total Phosphorus, Nitrates + Nitrites, Total Kjeldahl Nitrogen, Total Nitrogen, Chlorides, Sulfates, and Selenium.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Suburban Water Treatment Plant 1216 N. 165th St. PO Box 736 Basehor, KS 66007	Kansas River	Process Wastewater
Permit No. I-KS04-PO0 Federal Permit No. KS0	=	1: 100 D 01E

Legal Description: SW¼, SW¼, Section 23, Township 12S, Range 21E, Leavenworth County

Location: 38.9886, -95.05537

The proposed action consists of reissuing the above referenced NP-DES permit. The primary change was the removal of phosphorus. Previous monitoring data shows there is no reasonable potential for this facility to contribute this pollutant in significant amounts. This is a water treatment plant that removes iron and manganese from ground water, utilizing a pressure treatment system. This permit contains generic language to protect water quality.

Name and Address of Applicant Textron Aviation

Receiving Stream Type of Discharge

Process Wastewater

Textron Aviation Arka PO Box 7704 via G Wichita, KS 67277 via U Trib

Arkansas River via Gypsum Creek via Unnamed Tributary

Permit No. I-AR94-PO04 Federal Permit No. KS0000183

Legal Description: NW¹/4 Section 21, Township 27 S, Range 2 E, Sedgwick County

Location: 37.69274, -97.22221

The proposed action consists of reissuance of an existing Kansas/NP-DES Water Pollution Control Permit for an existing facility. The facility has concentration goals of Total Phosphorous (as P) – mg/l of less than or equal to 0.2 mg/l. KDHE has not conducted phosphorus monitoring at this facility before and requires additional data to determine how to divide the phosphorus limit between the two outfalls. Downstream testing of phosphorus is impractical due to the presence of urban runoff between the two discharge points and their confluence. As such, the permittee shall implement a Schedule of Compliance to prepare for final phosphorus limits at the facility. The permittee shall implement a Schedule of Compliance to prepare for final phosphorus limits at the facility. This permit contains limits for Oil and Gas, pH, and Trichloroethylene. The permit contains monitoring for Flow – MGD. Total Phosphorous, and TMDL Total Phosphorous.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Smith Center, City of 119 W. Court St.	Beaver Creek via Unnamed	Treated Domestic
Smith Center, KS 66967	Tributary	

Permit No. M-SO38-OO02

Federal Permit No. KS0098221

Legal Description: NW¹/4, NW¹/4, NW¹/4, Section 32, Township 3S, Range 13W, Smith County

Location: 39.75436, -98.82096

The proposed action consists of reissuance of a Kansas/NPDES Water Pollution Control permit for an existing facility. The existing facility is a three-cell wastewater stabilization lagoon system with a minimum of 120 days detention time. The facility receives domestic wastewater from residential and commercial areas. The city is in the process of adding an additional cell to convert the facility to a non-discharging lagoon system. This NPDES discharging lagoon wastewater treatment facility has been reviewed for eligibility for the MDV for ammonia and has been determined to be eligible. Eligibility was determined through analysis of the facility's highest attainable criteria (HAC) for ammonia and an Economic Eligibility Determination (EED) that assessed the impact of the cost of a new mechanical facility to the community's rate payers. The ammonia effluent limit was determined on August 5, 2024 by calculating the 99th percentile ammonia value from the facility's discharge monitoring reports resulting in an ammonia limit of 10.4 mg/L for this facility. This permit contains limits for Biochemical Oxygen Demand, Total Suspended Solids, Ammonia, and Chlorine Residual. The permit contains monitoring for pH, E.coli, Total Phosphorus, Nitrates + Nitrites, Total Kjeldahl Nitrogen, and Total Nitrogen.

Persons wishing to comment on or object to the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment (KDHE) if they wish to have the comments or objections considered in the decision-making process. All written comments regarding the draft documents, application or registration notices received on or before December 14, 2024, will be considered in the formulation of the final determination regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-24-354/366, KS-Q-24-232/240) and name of the applicant/permittee when preparing comments.

All comments received will be responded to at the time the Secretary of Health and Environment issues a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC). A request for public hearing must be submitted in writing and shall state the nature of the issues proposed to be raised during the hearing.

Comments or objections for agricultural related draft documents, permit applications, registrations or actions should be submitted to the attention of Casey Guccione, Livestock Waste Management Section at the KDHE, Bureau of Environmental Field Services (BEFS), 1000 SW Jackson, Suite 430, Topeka, KS 66612. Comments or objections for all other proposed permits or actions should be sent to Andrew Bowman at the KDHE, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612.

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the KDHE. For agricultural related draft documents or applications an appointment can be scheduled, or copies requested by contacting Jada Martin at 1000 SW Jackson St., Suite 430, Topeka, KS 66612, telephone 785-296-0076 or email at kdhe.feedlots@ks.gov. Las preguntas o comentarios por escrito deben dirigirse a Erich Glave, Director, Bureau of Environmental Field Services en KDHE: 1000 SW Jackson St., Suite 430, Topeka, KS 66612-1367; por correo electrónico: kdhe.feedlots@ks.gov; por teléfono: 785-296-6432. For all other proposed permits or actions an appointment can be scheduled, or copies requested by contacting Jamie Packard, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612, telephone 785-296-4148 or email at Jamie.Packard@ks.gov. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available at http://www. kdhe.ks.gov/livestock. Division of Environment offices are open from 8:00 a.m. to 5:00 p.m., Monday through Friday, excluding holidays.

> Janet Stanek Secretary Department of Health and Environment

Doc. No. 052647

State of Kansas

Department for Aging and Disability Services

Request for Comments

The Kansas Department for Aging and Disability Services (KDADS) is amending the following Kansas Medicaid 1915(c) Waiver: HCBS Intellectual Developmental Disabilities (IDD) Waiver.

The proposed amendment covers the following:

 To update the Level of Care (LOC) eligibility determination tool from the BASIS assessment to the Medicaid Functional Eligibility Instrument (MFEI). The proposed effective date for the IDD Waiver amendment is March 1, 2025.

KDADS seeks public comments from the general public on the proposed waivers from November 14, 2024, until 12:00 a.m. December 14, 2024.

The proposed waiver can be accessed:

- Online at https://www.kdads.ks.gov under Services & Programs, then Long-Term Services & Supports page and then Home and Community Based Services (HCBS), and then Waiver Renewal/Amendment.
- By email at kdads.hcbs-ks@ks.gov.
- By standard mail at Kansas Department for Aging and Disability Services, Attn: IDD Waiver Manager, 503 S. Kansas Ave., Topeka, KS 66603.

Draft copies of the proposed amendment may also be found at Local Health Departments.

Comments may be made in any one of the following ways:

- Online at https://www.kdads.ks.gov under Services & Programs, then Long-Term Services & Supports page and then Home and Community Based Services (HCBS), and then HCBS Notices & Memos.
- By email at kdads.hcbs-ks@ks.gov.
- By standard mail at Kansas Department for Aging and Disability Services, Attn: HCBS Programs, 503 S. Kansas Ave., Topeka, KS 66603.

Laura Howard Secretary

Department for Aging and Disability Services Doc. No. 052657

State of Kansas

Department for Aging and Disability Services

Request for Comments

The Kansas Department for Aging and Disability Services (KDADS) is amending the following Kansas Medicaid 1915(c) Waiver: HCBS Brain Injury Waiver.

The proposed amendment covers the following:

• To clarify the role MCOs play when exceeding Specialized Medical Equipment and Supplies (SMES), Vehicle Modification Services (VMS), and Home and Environmental Services (HEMS) limitations.

The proposed effective date for the Brain Injury Waiver amendment is January 1, 2025.

KDADS seeks public comments from the general public on the proposed waivers from November 14, 2024, until 12:00 a.m. December 14, 2024.

The proposed waiver can be accessed:

- Online at https://www.kdads.ks.gov under Services & Programs, then Long-Term Services & Supports page and then Home and Community Based Services (HCBS), and then Waiver Renewal/Amendment
- By email at kdads.hcbs-ks@ks.gov.
- By standard mail at Kansas Department for Aging and Disability Services, Attn: BI Waiver Manager, 503 S. Kansas Ave., Topeka, KS 66603.

Draft copies of the proposed amendment may also be found at Local Health Departments.

Comments may be made in any one of the following ways:

- Online at https://www.kdads.ks.gov under Services & Programs, then Long-Term Services & Supports page and then Home and Community Based Services (HCBS), and then HCBS Notices & Memos
- By email at kdads.hcbs-ks@ks.gov.
- By standard mail at Kansas Department for Aging and Disability Services, Attn: HCBS Programs, 503 S. Kansas Ave., Topeka, KS 66603.

Laura Howard Secretary

Department for Aging and Disability Services Doc. No. 052658

State of Kansas

Department of Transportation

Request for Proposals

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to perform professional services for the project(s) described in Table 1 below. Interested consultants must submit a proposal as laid out herein by 12:00 p.m. (Central Time) December 11, 2024, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in the following category(s):

- 221 Non-Standard Span Bridge Design
- 222 Standard Span Bridge Design
- 231 Traffic Control Analysis and Design

If a firm is not currently prequalified by KDOT in any of the required categories, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this solicitation for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons.asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Table 1: Background and Scope of Project

Project Number	Background and Scope of Project		
54-87 KA-7595-01	Reinforced concrete box girder with hinges needs repairs in Wichita, Sedgwick County. Structure is in an MPO area and will require full TMP and phased construction. Repair joints and patch overlay to improve structural condition.		

54-87 KA-7596-01	
	phased construction. Repair joints and patch
	overlay to improve structural condition.

Table 2: Project Summary

,			
Project Number	Route and Scope	Length (mi)	Project Termini
54-87 KA-7595-01	054-087 None	1,500 feet	Design Service for Bridge Repair
54-87 KA-7596-01	054-087 None	1,500 feet	Design Services for Bridge Repair
Project Number	Structure BR#, Structure Scope, Structure Size and Type		
54-87 KA-7595-01	087-293, Reinforced Box Girder RGBC, with hinges, three units, mill, patch, concrete overlay, and replace joints. Phased construction with full TMP.		
54-87 KA-7596-01	087-292, Reinforced Box Girder RGBC, with hinges, three units, mill, patch, concrete overlay, and replace joints. Phased construction with full TMP.		

Anticipated Consultant Scope

KDOT anticipates the following to be included in the consultant's scope:

- Preliminary Design Services
- Final Design Services

The scope included herein may not be all-inclusive. A scoping meeting will take place after consultant selection is made.

The scope of services will include traffic engineering. A full TMP will be required in this area.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (Central Time) December 11, 2024.
- 2. Ranking of proposals is expected to occur on or around December 16, 2024. Negotiations with the most highly ranked firm are expected to begin on or around January 6, 2025. An executed agreement is anticipated around January 27, 2025.
- 3. The program fiscal year for this project is FY2026 (July 2025–June 2026).
 - a. Letting: March 2026
 - b. Office Check: October 2025
 - c. PS&E: November 2025

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 8 pages total (including any cover letter, index, etc.). All pages shall be standard letter size (8.5" x 11"). Any page larger than standard letter size will be counted as two or more pages depending on size.
- 3. A single PDF (10 MB maximum size) of the proposal must be uploaded to the appropriate bid form on Bid Express by the proposal due date and time.
- 4. The proposal PDF file name must read:
 - a. "KA-7595-01 & KA-7596-01_Design Services for Bridge Repair FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate"), No.

10 ("Policy Regarding Sexual Harassment"), and No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing. Both attachments are required for every firm involved in a multi-consultant team. Upload these files as instructed in Bid Express.

- 6. The outline in Table 3 below describes the expected proposal organization and content sections.
- 7. Depending on the number and quality of responses received, KDOT anticipates shortlisting (based on proposals) and holding interviews prior to final selection (which may be based on both proposal and interview content). If KDOT deems interviews to be necessary, interview details and requirements and evaluation criteria for the interview will be distributed to shortlisted consultant teams in advance.
- 8. Table 4 lists the evaluation criteria and associated weights which will be used to shortlist respondents and may be considered in final selection.

Table 3: Proposal Content

Section	Description of Intent	Page Limit
Cover Letter		1 Page
Project Approach	Demonstrate a unique approach to accomplish the design efficiently and to a high standard. Include cost-effective and optimized solutions to address the anticipated improvements in the design. Include unique qualifications or experience related to the project approach.	
Approach to Schedule	Describe the approach to accomplish the scope of services within the schedule requirements. Include anticipated key milestone dates and availability of staff.	
Approach to Quality Control	Describe methods or procedures your firm will use to provide all drawings, reports and other services with professional quality and technical accuracy.	
Qualifications and Experience	For key personnel to be assigned to the project provide names, office location, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.	
Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.	
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's design process and standards. Describe familiarity with the project area and any identified special site conditions.	

Table 4: Evaluation Factors

Evaluation Factor	Weight
Qualifications and experience of project manager and other key project team members proposed for services	15%
Project approach	15%
Approach and commitment to meet advertised schedule	10%
Past performance history for similar projects/services for KDOT	20%
Understanding of the project area	10%
Understanding of KDOT Technical Policies	20%
Understanding of KDOT CAD standards and expectations for deliverables	10%

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")
- Special Attachment No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems")

Special Contract Conditions

Bridge repair design will be done by one consultant for both bridge projects KA-7594-01 and KA-7595-01.

Questions

All questions regarding this Request for Proposals shall be submitted via Q&A section of bid form in Bid Express.

Questions can be submitted until November 27, 2024; answers will be provided to all prequalified consultants on December 4, 2024.

Calvin Reed Secretary Department of Transportation

Doc. No. 052651

State of Kansas

Department of Transportation

Request for Proposals

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to perform professional services for the project(s) described in Table 1 below. Interested consultants must submit a proposal as laid out herein by 12:00 p.m. (Central Time) December 11, 2024, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in the following category(s):

- 221 Non-Standard Span Bridge Design
- 222 Standard Span Bridge Design
- 231 Traffic Control Analysis and Design

If a firm is not currently prequalified by KDOT in any of the required categories, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this solicitation for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons.asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Project Number	Background and Scope of Project	
75-89 KA-7594-01	Bridge deck repair for I-70 to I-470 fly over. Mill, patch, and overlay.	
Table 2: Project Summary		

Project Number	Route and Scope	Length (mi)	Project Termini
75-89 KA-7594-01	075-089 None	2,150 feet	Design for Bridge Repair
Project Number	Structure BR#, Structure Scope, Structure Size and Type		
75-89 KA-7594-01	089-195, SWCC, 1661.5 feet Mill 2", patch deck, replace expansion devices, concrete overlay		

Anticipated Consultant Scope

KDOT anticipates the following to be included in the consultant's scope:

- Preliminary Design Services
- Final Design Services

Traffic engineering will be included in services. A full TMP and detour will need to be designed.

The scope included herein may not be all-inclusive. A scoping meeting will take place after consultant selection is made.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (Central Time) December 11, 2024.
- 2. Ranking of proposals is expected to occur on or around December 16, 2024. Negotiations with the most highly ranked firm are expected to begin on or around January 6, 2025. An executed agreement is anticipated around January 27, 2025.
- 3. The program fiscal year for this project is FY2026 (July 2025–June 2026).
 - a. Letting: January 2026
 - b. PS&E: September 2025
 - c. Office Check: August 2025

Instructions for Proposal

1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.

- 2. The consultant's proposal must not exceed 5 pages total (including any cover letter, index, etc.). All pages shall be standard letter size $(8.5" \times 11")$. Any page larger than standard letter size will be counted as two or more pages depending on size.
- 3. A single PDF (10 MB maximum size) of the proposal must be uploaded to the appropriate bid form on Bid Express by the proposal due date and time.
- 4. The proposal PDF file name must read:
- a. "KA-7594-01_Design Bridge Repair_FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate"), No. 10 ("Policy Regarding Sexual Harassment"), and No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing. Both attachments are required for every firm involved in a multi-consultant team. Upload these files as instructed in Bid Express.
- 6. The outline in Table 3 below describes the expected proposal organization and content sections.
- 7. Depending on the number and quality of responses received, KDOT anticipates shortlisting (based on proposals) and holding interviews prior to final selection (which may be based on both proposal and interview content). If KDOT deems interviews to be necessary, interview details and requirements and evaluation criteria for the interview will be distributed to shortlisted consultant teams in advance.
- 8. Table 4 lists the evaluation criteria and associated weights which will be used to shortlist respondents and may be considered in final selection.

Table 3: Proposal Content

Section	Description of Intent	Page Limit
Cover Letter		1 Page
Project Approach	Demonstrate a unique approach to accomplish the design efficiently and to a high standard. Include cost-effective and optimized solutions to address the anticipated improvements in the design. Include unique qualifications or experience related to the project approach.	
Approach to Schedule	Describe the approach to accomplish the scope of services within the schedule requirements. Include anticipated key milestone dates and availability of staff.	
Approach to Quality Control	Describe methods or procedures your firm will use to provide all drawings, reports and other services with professional quality and technical accuracy.	

Qualifications and Experience	For key personnel to be assigned to the project provide names, office location, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.	
Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.	
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's design process and standards. Describe familiarity with the project area and any identified special site conditions.	

Table 4: Evaluation Factors

Evaluation Factor	Weight
Qualifications and experience of project manager and other key project team members proposed for services	20%
Project approach	15%
Approach and commitment to meet advertised schedule	10%
Past performance history for similar projects/services for KDOT	25%
Understanding of KDOT Technical Policies	20%
Understanding of KDOT CAD standards and expectations for deliverables	10%

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")
- Special Attachment No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems")

Questions

All questions regarding this Request for Proposals shall be submitted via Q&A section of bid form in Bid Express.

Questions can be submitted until November 27, 2024; answers will be provided to all prequalified consultants on December 4, 2024.

Calvin Reed Secretary Department of Transportation

Doc. No. 052652

State of Kansas

Department of Transportation

Request for Proposals

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to perform professional services for the project(s) described in Table 1 below. Interested consultants must submit a proposal as laid out herein by 12:00 p.m. (Central Time) December 11, 2024, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in the following category(s):

• 323 – Underwater Bridge Inspection

If a firm is not currently prequalified by KDOT in any of the required categories, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this solicitation for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons.asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Background and Scope of Project 106 KA-1675-04

This project is to investigate and prepare reports for underwater bridge inspections in accordance with FHWA guidelines within the calendar year 2025. The project has twenty (20) locations, which includes four (4) Missouri River crossings. The consultant will need to augment the underwater diving inspection with side scanning sonar technology. The consultant will also be an "on call" consultant for additional underwater inspections through calendar year 2029 as warranted by flood events.

Project 106 KA-1675-04 -Statewide Underwater Bridge Inspection Summary

The following is a list of the 20 structures:

001-0058	(37.921944, -95.426667)	105-0194	(39.045556, -94.789444)
003-0055	(39.559444, -95.1125)	105-0195	(39.045556, -94.789167)
023-0081	(38.975, -95.236111)	105-0235	(39.191667, -94.770278)
023-0082	(38.975, -95.235556)	105-0240	(39.191389, -94.770556)
052-0026	(39.329722, -94.908333)	105-0243	(39.098611, -94.612778)
105-0031	(39.113056, -94.615)	105-0244	(39.098889, -94.612778)
105-0044	(39.099722, -94.679722)	105-0258	(39.059444, -94.871667)
105-0045	(39.099444, -94.679444)	105-0277	(39.087222, -94.658611)
105-0072	(39.075278, -94.624444)	105-0287	(39.075278, -94.624722)
105-0077	(39.059444, -94.871667)	105-0340	(39.113333, -94.614167)

Anticipated Consultant Scope

KDOT anticipates the following to be included in the consultant's scope:

- 1606
 - Underwater Inspection

Each inspection will be led by an engineer who meets the requirements for the Underwater Bridge Inspection Team Leader.

The scope included herein may not be all-inclusive. A scoping meeting will take place after consultant selection is made.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (Central Time) December 11, 2024.
- 2. Ranking of proposals is expected to occur on or around December 18, 2024. Negotiations with the most highly ranked firm are expected to begin on or around January 8, 2025. An executed agreement is anticipated around January 22, 2025.
- 3. The program Calendar year for this project is 2025-2029
- 4. Anticipated Start Date February 2025

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.). All pages shall be standard letter size (8.5" x 11"). Any page larger than standard letter size will be counted as two or more pages depending on size.
- 3. A single PDF (10 MB maximum size) of the proposal must be uploaded to the appropriate bid form on Bid Express by the proposal due date and time.
- 4. The proposal PDF file name must read:
- a. "106 KA-1675-04–KDOT Statewide Underwater Bridge Inspections FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate"), No. 10 ("Policy Regarding Sexual Harassment"), and No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing. Both attachments are required for every firm involved in a multi-consultant team. Upload these files as instructed in Bid Express.
- 6. The outline in Table 1 below describes the expected proposal organization and content sections.
- 7. Depending on the number and quality of responses received, KDOT anticipates shortlisting (based on proposals) and holding interviews prior to final selection (which may be based on both proposal and interview content). If KDOT deems interviews to be necessary, interview details and requirements and evaluation criteria for the interview will be distributed to shortlisted consultant teams in advance.
- 8. Table 2 lists the evaluation criteria and associated weights which will be used to shortlist respondents and may be considered in final selection.

Table 1 Proposal Content

Section	Description of Intent	Page Limit
Cover Letter		1 Page
Project Approach	Demonstrate a unique approach to accomplish the design efficiently and to a high standard. Include cost-effective and optimized solutions to address the anticipated improvements in the design. Include unique qualifications or experience related to the project approach.	
Approach to Schedule	Describe the approach to accomplish the scope of services within the schedule requirements. Include anticipated key milestone dates and availability of staff.	
Approach to Quality Control	Describe methods or procedures your firm will use to provide all drawings, reports and other services with professional quality and technical accuracy.	
Qualifications and Experience	For key personnel to be assigned to the project provide names, office location, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.	
Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.	
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's design process and standards. Describe familiarity with the project area and any identified special site conditions.	

Table 2: Evaluation Factors

Evaluation Factor	Weight
Qualifications and experience of project manager and other key project team members proposed for services	25%
Proposed Project approach	20%
Past performance history for similar projects/services for KDOT	20%
Availability to respond to the work	20%
The quality and completeness of the response	15%

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")

Special Attachment No. 12 ("Certification of Company Not Currently Engaged in the Procurement p. or Obtainment of Certain Equipment, Services, or pr

Special Contract Conditions

Systems")

Individual reports will be created for each bridge. Data will be uploaded to the KDOT database within 60 days of inspection date. Inspection reports will be submitted to KDOT, and a review meeting will be set up by the consultant before the end of 2025.

Questions

All questions regarding this RFP shall be submitted via Q&A section of bid form in Bid Express.

Questions can be submitted until November 21, 2024; answers will be provided to all pre-qualified consultants on November 28, 2024.

Calvin Reed Secretary Department of Transportation

Doc. No. 052653

State of Kansas

Department of Transportation

Request for Proposals

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm, or team of firms, to perform construction inspection services on multiple projects in various counties. Summary information for each project is provided below in Table 1.

Interested consultants must upload a proposal by 12:00 p.m. (Central Time) December 11, 2024, to the Bid Express page to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in the following category(s):

• 241 – Construction Inspection and Testing

If a firm is not currently prequalified by KDOT in any of the required categories, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this solicitation for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons.asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Background and Scope of Projects

With this single solicitation, KDOT is requesting consulting services for construction inspections on the projects listed in Table 1. This table provides summary information for each project. One consultant will be selected to perform services associated with each group listed. Firms can express interest in the groups for which they would like to be considered by submitting a response as indicated below. There is no guarantee that a firm which has expressed interest will be selected for any project(s).

Group	RT-CO	Project #	Scope, County	Anticipated Start	Working Days or CCD	Office	Comments
24414	K052-054	KA-7021-01	Resurfacing, Linn		45	Garnett	
	U169-061	KA-7483-01	Resurfacing, Miami		52	Garnett	
24415	U169-030	KA-7482-01	Resurfacing, Franklin		25	Garnett	
24416	U169-002	KA-7534-01	Resurfacing, Anderson		0	Garnett	November Letting
24417	U059-002	KA-7530-01	Resurfacing, Anderson		0	Garnett	November Letting

Table 1: Summary of Project Information

Additional project information including construction scope to be inspected, a detailed description of the project location, and resources and inspection scope specifically requested from consultants in this request can be viewed in an online table https://ike.ksdot.gov/about/construction-inspection-rfps. Upon publication of this Request for Proposals, KDOT anticipates each of these inspection efforts will require full teams (project manager and inspectors, as opposed to single role staff augmentation as is occasionally request) for various types of construction inspection except as noted in the table. Watch the website linked above for updated information. Tabulated information (both in this Request for Proposals and on the website) shall not be relied upon during inspections. It is provided for the convenience of consultants, specifically to aid in making decisions about which projects they are interested in performing.

Specific project needs are subject to modification and/ or cancellation at KDOT's discretion.

Anticipated Consultant Scope

The scope of construction inspection services and certifications required will vary for each project and are listed in the table available on the website noted above. Inspection efforts will be managed out of the offices listed. Also included for the convenience of consultants are indications of which grouped projects are currently slated to be performed by the same contractors.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (Central Time) December 11, 2024.
- 2. Ranking of proposals is expected to occur on or around December 13, 2024. Negotiations with the most highly ranked firm are expected to begin on or around December 20, 2024. An executed agreement is anticipated shortly thereafter.
- 3. Anticipated scope starts dates and working days or anticipated calendar completion dates are shown in the table. All dates are subject to change.

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed the page limit laid out in Table 2 below (including any cover letter, index, etc.). All pages shall be standard letter size (8.5" x 11"). Any page larger than standard letter size will be counted as two or more pages depending on size.
- 3. A single PDF (10MB maximum size) of the proposal including all attachments must be uploaded to the appropriate bid form on Bid Express by the proposal due date and time.
- 4. The proposal PDF file name must read:
 - a. "ConstInsp Multiple Projects_2024.11 Release FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate"), No. 10 ("Policy Regarding Sexual Harassment"), and No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing. Both attachments are required for every firm involved in a multi-consultant team. Upload these files as instructed in Bid Express.
- 6. The outline in Table 2 below describes the expected proposal organization, content sections, and limits on number of pages.
 - a. Each team is limited to a single, one-page cover letter.
 - b. Consultants may indicate interest in any and all projects, indicate preference (s) for up to three projects, and shall both indicate interest and preferences on the "November 2024 Construction Inspections Interest & Preference Form is provided on the Bid Express page to complete and upload. Also, consultants are to use the bottom of that form to indicate any capacity limitations that need to be taken into account when making selections.
 - c. Thereafter, each team is limited to two pages per project in which they express interest. In these pages, consultants shall:
 - i. Describe the approach they plan to execute to deliver success on the project.
 - ii. Present the relevant qualifications and expe-

rience of the people they are proposing will provide the services.

- iii. Provide the firm's familiarity with KDOT and the project area.
- d. Finally, consultants are limited to a single, onpage descriptions of general qualifications ("Past Performance" selection plus "Approach to Quality Control" section) regardless of the number of projects in which they are expressing interest.
- 7. Table 3 lists the evaluation criteria and associated weights which will be used to make a selection.
- 8. Although not anticipated at this time, KDOT reserves the right to interview for the requested services associated with any of the listed projects prior to making final selections.

Table 2: 1 Toposal Collient				
Section	Description of Intent	Page Limit		
Cover Letter		1 Page		
Consultant Project Interest and Preference	Fill out "November 2024 Construction Inspections Interest & Preference Form" and submit with your proposal.	1 Page		
Project Approach	Describe how your firm will meet the fluctuating inspection needs of the project.			
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List wok for which you do not have in- house capability and name the firm you propose to subcontract with.	2 Pages per project in which team is interested		
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's inspection processes and standards. Describe familiarity with the project area and any identified special site conditions.			
Past Performance	Performance Reformance Performance Performance Performance Performance Performance Performance Performance Performance Project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.			
Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.			

Table 2: Proposal Content

Table 3: Evaluation Factors

Evaluation Factor	Weight
The quality and completeness of the response	10%
Availability to respond to the work	20%
Qualifications and experience of project manager and other key project team members proposed for services	20%
Past performance history for similar projects/services for KDOT	20%
Understanding of the project area	10%
Understanding of KDOT contract administration and closeout procedures	20%

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")
- Special Attachment No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems")

Special Contract Conditions

Batch Request for Proposals.

Questions

All questions regarding this Request for Proposals shall be submitted via Q&A section of bid form in Bid Express.

Questions can be submitted until November 27, 2024; answers will be provided to all prequalified consultants on December 4, 2024.

Calvin Reed Secretary Department of Transportation

Doc. No. 052654

State of Kansas

Office of the Governor

Executive Directive No. 24-591 Authorizing Personnel Transactions and Establishment of a Federal Fund

By virtue of the authority vested in the Governor as the head of the Executive Branch of the State of Kansas, the following transactions are hereby authorized:

The request of Kraig Knowlton, Director of Personnel Services, to provide a Minimum Staffing Premium Pay at a rate of one and a half times the employee's regular hourly rate of pay for time worked outside of regularly scheduled shifts in situations authorized by the Superintendent of the Kansas Highway Patrol to employees in the Communications Specialist I, Communications Specialist II, Communications Specialist Supervisor, KHP Communications Shift Manager, KHP Communications Coordinator, Highway Patrol Trooper, Highway Patrol Master/Technical Trooper, Highway Patrol Lieutenant, Law Enforcement Officer I, Law Enforcement Officer II, Law Enforcement Officer III job classifications and job titles is hereby approved, effective November 10, 2024.

I have conferred with the Secretary of Administration, the Director of the Budget, the Director of Personnel Services, and members of my staff, and I have determined that the requested action is appropriate.

Pursuant to the authority of the Secretary of the Kansas Department of Commerce to receive and expend federal funds, and pursuant to the authority granted the Governor by Section 200 of Chapter 88 of *The 2024 Session Laws of Kansas,* approval is hereby granted to the Department of Commerce for expenditure in FY 2025 of monies in the federal fund entitled "Rural Community Development Initiative Federal Fund."

I have conferred with the Director of the Budget and members of my staff, and I have determined that the guidelines set forth in K.S.A. 75-3711 and 75-3711c have been applied and that none of the forgoing actions exceeds the limitations contained therein.

Dated November 6, 2024.

Laura Kelly Governor

Doc. No. 052661

State of Kansas

Office of the Governor

State of Disaster Emergency Proclamation

By virtue of the authority vested in me by the Kansas Emergency Management Act, Chapter 48, Article 9, of the Kansas Statutes Annotated, to meet the inherent dangers of disasters to which the State and its citizens have been exposed, and upon advice of the State Adjutant General as the Director of the Division of Emergency Management, I hereby proclaim a State of Disaster Emergency as follows:

Nature of the Disaster

The National Weather Service forecasted an unseasonably hot weather pattern across the state with near critical to critical fire weather conditions ahead of a cold front that is predicted to bring late afternoon and strong to severe storms throughout the evening. This trend is forecast to occur several times over the next several days. A need for aerial firefighting resources and ground task forces may be necessary.

Date that Disaster Affected the Area October 24 – November 1, 2024

Area Affected by the Disaster

Chase County Doniphan County Marion County Montgomery County Sedgwick County

I hereby proclaim, direct and order the Adjutant General of the State of Kansas to activate the disaster response and recovery portions of the Kansas Response Plan and to utilize all available resources of the state to cope with the disaster as necessary. The Adjutant General shall coordinate local and inter-jurisdictional disaster plans applicable to the political subdivisions of areas affected by this Proclamation.

Any or all of the powers conferred upon the Governor by the Kansas Emergency Management Act may be delegated to the Adjutant General as deemed appropriate during this period of proclaimed State of Disaster Emergency. This may be delegated by written orders, or oral orders subsequently reduced to writing with reference to this Proclamation. I hereby suspend the provisions of any regulatory statute prescribing the procedures for conduct of state business, or the order or rules and regulations of any state agency which implements such statute, if strict compliance with the provisions of such statutes, order or rule and regulation would prevent, hinder, or delay in any way necessary action in coping with the disaster as set forth in KSA 48-925(c)(1).

This Proclamation shall be filed promptly with the Division of Emergency Management, the Office of the Secretary of State, and each city clerk or county clerk, as appropriate, in the area to which this Proclamation applies. Further dissemination of this Proclamation shall occur by means calculated to bring its contents to the attention of the general public.

Proclaimed on the 24th day of October 2024, and **Memorilized** under the Great Seal of the State this 4th day of November, 2024.

Laura Kelly Governor

Doc. No. 052646

(Published in the Kansas Register November 14, 2024.)

City of Willowbrook, Kansas

Notice of Intent to Seek Private Placement General Obligation Bonds, Series 2024

Notice is hereby given that the City of Willowbrook, Kansas (the "Issuer") proposes to seek a private placement of the above-referenced bonds (the "Bonds"). The maximum aggregate principal amount of the Bonds shall not exceed \$1,270,000. The proposed sale of the Bonds is in all respects subject to approval of a bond purchase agreement between the Issuer and the purchaser of the Bonds and the passage of an ordinance and adoption of a resolution by the governing body authorizing the issuance of the Bonds and the execution of various documents necessary to deliver the Bonds.

Dated November 4, 2024.

Frank Alexander City Clerk City of Willowbrook, Kansas

Doc. No. 052659

State of Kansas

Kansas Development Finance Authority

Notice of Hearing

A public hearing will be conducted at 10:00 a.m. Monday, December 2, 2024, in the offices of the Kansas Development Finance Authority (KDFA), 534 S. Kansas Ave., Suite 800, Topeka, Kansas, on the proposal for the KDFA to issue its Agricultural Development Revenue Bond for the project numbered below in the respective maximum principal amount. The bond will be issued to assist the borrower named below (who will be the owner and operator of the project) to finance the cost in the amount of the bond, which is then typically purchased by a lender bank who then, through the KDFA, loans the bond proceeds to the borrower for the purposes of acquiring the project. The project shall be located as shown:

Project No. 001150 Maximum Principal Amount: \$505,000. Owner/Operator: Thomas J. Enneking and Mary M. Amey; Description: Acquisition of 149 acres of agricultural land and related improvements and equipment to be used by the owner/operator for farming purposes (the "Project"). The Project is being financed by the Lender for Thomas J. Enneking and Mary M. Amey (the "Beginning Farmer") and is located in the Northeast Quarter of Section 16, Township 4, Range 12, Nemaha County, Kansas, approximately 5 miles east and 1 mile south of Centralia, Kansas at 80th and Nightengale Road.

The bond, when issued, will be a limited obligation of the KDFA and will not constitute a general obligation or indebtedness of the state of Kansas or any political subdivision thereof, including the KDFA, nor will it be an indebtedness for which the faith and credit and taxing powers of the state of Kansas are pledged. The bond will be payable solely from amounts received from the respective borrower, the obligation of which will be sufficient to pay the principal of, interest and redemption premium, if any, on the bond when it becomes due.

Interested individuals may participate in the public hearing in person or via conference call. Please call 844-621-3956 and use conference identification number 145 880 8929 followed by # to join the conference.

All individuals who appear at the hearing will be given an opportunity to express their views concerning the proposal to issue the bond to finance the project, and all written comments previously filed with the KDFA at its offices at 534 S. Kansas Ave., Suite 800, Topeka, KS 66603, will be considered. Additional information regarding the project may be obtained by contacting the KDFA.

> Rebecca Floyd President

Kansas Development Finance Authority

State of Kansas

Doc. No. 052655

Board of Education

Notice of Hearing on Proposed Administrative Regulation

The Kansas State Board of Education will conduct a public hearing at 1:30 p.m., or as soon thereafter as possible, Tuesday, February 11, 2025, in the Board Room of the Landon State Office Building, 900 SW Jackson Ave., Suite 102, Topeka, Kansas, to consider the adoption of a proposed rule and regulation of the Kansas State Board of Education on a permanent basis.

This 60-day notice of the public hearing shall constitute a public comment period for the purpose of receiving written public comments on the proposed rule and regulation. All interested parties may submit written comments prior to the hearing to the Secretary of the Kansas State Board of Education at the address below or by email to dbremer@ ksde.org. The address for the Kansas State Board of Education is Landon State Office Building, 900 SW Jackson Ave., Suite 102, Topeka, KS 66612. All interested parties will be given a reasonable opportunity to present their views orally regarding the adoption of the proposed regulation during the public hearing. In order to provide all parties an opportunity to present their views, it may be necessary to request that each participant limit any oral presentation to five minutes. The hearing shall be conducted in compliance with the public hearing procedures of the Kansas State Board of Education.

Any individual with a disability may request an accommodation in order to participate in the public hearing, and may request the proposed regulation and economic impact statement in an accessible format. Requests for accommodation to participate in the hearing should be made at least five working days in advance of the hearing by contacting Wendy Fritz at 785-296-5363 (or TDD 785-296-8172) or by email to wfritz@ksde.org. The north entrance to the Landon State Office Building is accessible. Handicapped parking is located at the south end of the Landon State Office Building, across the street from the north entrance to the building, and on Ninth Street, just around the corner from the north entrance to the building.

A copy of the proposed regulation and its economic impact statement may be obtained by contacting the Office of General Counsel at the address above prior to the date of the hearing or by email to gc@ksde.org.

A summary of the proposed regulation and its economic impact follows.

K.A.R. 91-31-35

In 2024 the Kansas State Board of Education amended K.A.R. 91-31-35 to modify the minimum requirements for high school graduation that school districts were required to implement as part of their accreditation. One of those graduation requirements was for graduating seniors to either complete the Free Application for Federal Student Aid ("FAFSA") or to obtain a waiver from doing so. Upon receiving feedback from students, parents, and school administrators the State Board has chosen to remove FAFSA completion from its list of minimum high school graduation requirements.

The Kansas State Board of Education does not anticipate any significant financial or economic impact to this agency, other state agencies, or to the public because of this regulation.

> Dr. Randy Watson Commissioner Department of Education

Doc. No. 052662

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 2. – LOTTERY RETAILERS

111-2-331. Cosentino's Price Chopper Grocery **Give-A-Way.** (a) The term of this promotion shall begin at 5:00 a.m. on December 2, 2024, and end at 8:59 p.m. on December 15, 2024.

(b) During the term of this promotion with participating chain numbers 1436 and 1732 Cosentino's Price Chopper stores in Kansas, the player shall receive an entry for the "Grocery Give-A-Way" promotion drawing for each qualifying purchase. A qualifying purchase shall be a Super Kansas Cash purchase of \$3 or more on a single ticket. Lottery terminals shall automatically dispense an entry form for each qualifying purchase at participating retailers during the term of this promotion. The qualifying purchase may be for a single draw or for multiple draws.

(c) During the term of this promotion, sealed drop boxes for the deposit of entries shall be provided by the Kansas lottery and placed at all participating retailer locations. All drop boxes shall be collected by participating retailers' personnel at the end of the promotion and held for Kansas lottery personnel to conduct the drawing.

(d) Entry into the "Grocery Give-A-Way" promotion shall be accomplished as follows:

(1) During the term of this promotion, with every qualifying purchase an entry form shall be automatically produced by the lottery online terminal.

(2) The purchaser must complete the information on the entry form in a legible manner. Only one name shall appear on each entry form.

(3) The completed entry form must be placed into the designated drawing receptacle provided at any participating retailer location no later than 8:59 p.m. on December 15, 2024.

(4) The holder of the entry is not required to personally attend the drawing or be present at the time of the drawing to be determined a winner.

(5) The drawing shall be conducted by Kansas lottery personnel at Cosentino's corporate office or at each participating retailer location during the week of December 15, 2024. One winner and two alternate entries per store shall be drawn using a bare arm technique, while looking away from the receptacle and removing only one ticket at a time from the receptacle in which all entries were placed.

(6) Only entry forms obtained during the term of this promotion may be entered in the drawing.

(e) The person whose name appears on the first entry drawn, for each participating retailer, shall be the winner of \$100 in groceries. The second and third entries drawn, for each participating retailer, shall be marked 1A and 2A in the order drawn and shall be used as alternate winners in the event the prize winner cannot be contacted or does not qualify under the terms of this promotion to win a prize. The winner shall be contacted by phone at the phone number listed by the entrant on the entry form. The winner shall be instructed on how to verify his or her personal identification. If the winning entry does not qualify under the terms of this promotion or the winner is not able to be contacted within seven days from the date of the drawing, the prize shall be awarded to the first alternate winner in the same manner as the original winner. If the alternate winning entry does not qualify under the terms of this promotion or the alternate winner is not able to be contacted within 14 days from the date of the drawing, the prize shall be awarded to the second alternate winner in the same manner as the first alternate (continued)

© Kansas Secretary of State 2024

winner. If the second alternate winning entry does not qualify under the terms of this promotion or the second alternate winner is not able to be contacted within 21 days from the date of the drawing, the prize shall not be awarded. A claim form is not required to claim a prize in this drawing.

(f) Cosentino's will provide each winner with a \$100 Cosentino's gift card. The Kansas lottery shall reimburse each participating retailer a \$75 instant ticket credit. Cosentino's will pay the additional \$25 per store for the total \$100 prize.

(g) There is no limit on the number of entries a person may make, but each person may only win once regardless of the place of entry.

(h) Eligible entrants in the promotion must be 18 years of age or older, and may not be an employee of any Cosentino's Price Chopper store in Kansas. (Authorized by and implementing K.S.A. 2023 Supp. 74-8710; effective, T-111-10-10-24, Sept. 18, 2024.)

Article 4.—INSTANT GAMES AND DRAWINGS

111-4-3811. "Hot 7s" instant ticket lottery game number 435. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Hot 7s." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3811.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions	
03	THR	
04	FOR	
06	SIX	
08	EGT	
09	NIN	
11	ELVN	
12	TWLV	
13	THRN	
14	FRTN	
15	FIFTN	
16	SIXTN	
17	SEVTN	
18	EGTN	
19	NINTN	
Symbol of a 7 outlined	WIN\$5	

Prize Symbols	Captions
FREE	TICKET
\$1.00	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
10.00	TEN\$
20.00	TWENTY

nine play spots within the play area or areas.

(c) For this game, a play/prize symbol shall appear in

FIFTY

ONE-HUN

FIVE-HUN

10-THOU

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(f) "Hot 7s" is a key number match game with an instant win. The player will scratch the play area to reveal one "HOT NUMBER" and four "YOUR NUMBERS" with a prize amount shown to the right of each of the "YOUR NUMBERS." If the player matches any "YOUR NUM-BER" to the "HOT NUMBER," the player wins the prize amount shown to the right of that number. If the player reveals a symbol of a 7 outlined, the player wins \$5.

(g) Each ticket in this game may win up to four times.

(h) Approximately 1,800,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Winners Per	
	Amount	1,800,000	Prize Cost
Free Ticket	\$1	120,000	\$120,000
\$1	\$1	192,000	\$192,000
\$2	\$2	82,200	\$164,400
\$5	\$5	9,600	\$48,000
\$1 + (\$2 x 2)	\$5	9,000	\$45,000
\$5 Instant Win	\$5	13,800	\$69,000
\$10	\$10	2,400	\$24,000
(\$2 x 2) + \$5 Instant Win + \$1	\$10	3,300	\$33,000
\$5 x 2	\$10	2,400	\$24,000
\$5 + \$5 Instant Win	\$10	3,300	\$33,000
\$20	\$20	1,200	\$24,000
\$10 + \$5 + \$5 Instant Win	\$20	1,560	\$31,200
\$10 x 2	\$20	1,200	\$24,000
\$5 x 4	\$20	1,440	\$28,800
\$50	\$50	300	\$15,000
\$20 x 2 + \$5 + \$5 Instant Win	\$50	480	\$24,000
\$20 + (\$10 x 3)	\$50	300	\$15,000
\$100	\$100	150	\$15,000
\$50 + \$10 + \$20 + \$20	\$100	150	\$15,000
\$50 x 2	\$100	150	\$15,000
\$500	\$500	36	\$18,000
\$10,000	\$10,000	6	\$60,000
Players Loyalty Program	\$11,382		\$11,382
Second Chance Drawing	\$1,000		\$1,000
TOTAL		444,972	\$1,049,782

(j) The odds of winning a prize in this game are approximately one in 4.05. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-10-10-24, Sept. 18, 2024.)

111-4-3812. "Burning Hot 7s" instant ticket lottery game number 436. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Burning Hot 7s." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3812.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
08	EGT
09	NIN

50.00

\$100

\$500

\$10000

ELVN

TIAT V

1	61	.3
---	----	----

NUMBER" to the "HOT NUMBERS," the player wins the prize amount shown to the right of that number. If a player reveals a symbol of a 2X, the player wins double the prize amount shown to the right of that symbol. If the player reveals a symbol of a 7 outlined, the player wins \$10. The player will scratch the two bonus "HOT SPOT" play areas. If the player reveals a symbol of a flame in the "HOT \$5" spot, the player wins \$5. If the player reveals a symbol of a flame in the "HOT \$10" spot, the player wins \$10.

(g) Each ticket in this game may win up to 12 times.

(h) Approximately 1,800,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

0					
	Hot \$5	Hot \$10	Prize Amount	Winners Per 1,800,000	Prize Cost
\$2 (Free Ticket)			\$2	156,000	\$312,000
\$2			\$2	174,000	\$348,000
\$5			\$5	32,400	\$162,000
	\$5		\$5	33,600	\$168,000
\$10			\$10	4,800	\$48,000
		\$10	\$10	7,800	\$78,000
\$5 (2X)			\$10	7,800	\$78,000
\$5	\$5		\$10	4,800	\$48,000
\$10 Instant Win			\$10	7,800	\$78,000
\$20			\$20	2,400	\$48,000
\$5	\$5	\$10	\$20	3,000	\$60,000
\$10 Instant Win		\$10	\$20	3,600	\$72,000
\$2 (2X) + (\$2 x 3)		\$10	\$20	3,000	\$60,000
\$10 (2X)			\$20	3,000	\$60,000
\$50			\$50	1,200	\$60,000
(\$5 x 7) + \$10 Instant Win	\$5		\$50	1,440	\$72,000
\$20 (2X)		\$10	\$50	1,440	\$72,000
(\$5 x 5) + \$10 Instant Win	\$5	\$10	\$50	1,440	\$72,000
\$200			\$200	156	\$31,200
\$50 (2X) + \$10 Instant Win + (\$10 x 7) + \$5	\$5	\$10	\$200	180	\$36,000
\$20 (2X) + (\$50 x 2) + \$10 Instant Win + (\$20 x 2)		\$10	\$200	180	\$36,000
$(\$10 \times 8) + \$50 (2X) + \$5$	\$5	\$10	\$200	156	\$31,200
\$1,000			\$1,000	36	\$36,000
\$200 (2X) + \$200 + (\$50 x 8)			\$1,000	36	\$36,000
\$20,000			\$20,000	4	\$80,000
Players Loyalty Program			\$23,480		\$23,480
2nd Chance Drawing			\$2,000		\$2,000
č			TOTAL	450,268	\$2,207,880

(j) The odds of winning a prize in this game are approximately one in 4.00. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-10-10-24, Sept. 18, 2024.)

111-4-3813. "Blazing Hot 7s" instant ticket lottery game number 437. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Blazing Hot 7s." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3813.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
	(continued)

	12	TWLV
	13	THRN
	14	FRTN
	15	FIFTN
	16	SIXTN
	17	SEVTN
	18	EGTN
	19	NINTN
	21	TWYONE
	22	TWYTWO
	23	TWYTHR
	24	TWYFOR
	25	TWYFIV
	26	TWYSIX
	27	TWYSEV
	28	TWYEGT
	29	TWYNIN
	30	THRTY
	31	THRONE
	32	THRTWO
	33	THRTHR
	34	THRFOR
	35	THRFIV
	2X	DBL
	Symbol of a 7 outlined	WIN\$10
	Prize Symbols	Captions
	FREE	TICKET
	\$2 ^{.00}	TWO\$
	\$5 ^{.00}	FIVE\$
	10 ^{.00}	TEN\$
	20.00	TWENTY
	50.00	FIFTY
	\$200	TWO-HUN
	\$1000	ONETHOU
	\$20000	20-THOU
HOT SPOT BONUS	Play Symbols	Captions
	Symbol of a vault	VAULT
	Symbol of the sun	SUN
	Symbol of a pot of gold	POTGLD
	Symbol of a piggy bank	PGYBNK
	Symbol of a gold bar	GLDBAR
	Symbol of a coin	COIN
	Symbol of a clover	CLOVER
	Symbol of a flame	WIN\$5
	Symbol of a flame	WIN\$10
(c) For this game	, a plav/prize symbol	shall appear

11

10

(c) For this game, a play/prize symbol shall appear in 25 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.

(e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(f) "Burning Hot 7s" is a key number match game with an instant win, a multiplier and two bonus "HOT SPOTS." The player will scratch the play area to reveal three "HOT NUMBERS" and 10 "YOUR NUMBERS" with a prize amount shown to the right of each of the "YOUR NUMBERS." If the player matches any "YOUR

02	TWO
03	THR
04	FOR
06	SIX
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWNEOD
	TWYFOR
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
	-
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
	-
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
5X	5TIMES
	01111120
Symbol of a 7 outlined	WIN\$25
D : 0 1 1	
Prize Symbols	Captions
FREE	TICKET
\$5.00	FIVE\$
10.00	TEN\$
$20^{.00}$	TWENTY
25.00	TWEN-FIV
50.00	FIFTY
75.00	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$50000	50-THOU
	C
6 Play Symbols	Captions
Symbol of a vault	VAULT
Symbol of the sun	SUN
Symbol of a pot of gold	POTGLD
Symbol of a piggy bank	PGYBNK
Symphol of a gold have	

Symbol of a coin	COIN
Symbol of a clover	CLOVER
Symbol of a flame	WIN\$5
Symbol of a flame	WIN\$10
Symbol of a flame	WIN\$20

(c) For this game, a play/prize symbol shall appear in 42 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.

(e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.

(f) "Blazing Hot 7s" is a key number match game with an instant win, a multiplier and three bonus "HOT SPOTS." The player will scratch the play area to reveal five "HOT NUMBERS" and 17 "YOUR NUMBERS" with a prize amount shown to the right of each of the "YOUR NUMBERS." If the player matches any "YOUR NUM-BER" to any of the "HOT NUMBERS," the player wins the prize amount shown to the right of that number. If a player reveals a symbol of a 5X, the player wins five times the prize amount shown to the right of that symbol. If the player reveals a symbol of a 7 outlined, the player wins \$25. The player will scratch the three bonus "HOT SPOT" play areas. If the player reveals a symbol of a flame in the "HOT \$5" spot, the player wins \$5. If the player reveals a symbol of a flame in the "HOT \$10" spot, the player wins \$10. If the player reveals a symbol of a flame in the "HOT \$20" spot, the player wins \$20.

(g) Each ticket in this game may win up to 20 times.

(h) Approximately 1,050,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

0						
	Hot	Hot	Hot	л·	Winners Per	D · C ·
	\$5	\$10	\$20	Prize	1,050,000	Prize Cost
\$5 FREE TICKET				\$5	70,000	\$350,000
\$5				\$5	50,400	\$252,000
	\$5			\$5	49,700	\$248,500
\$10				\$10	11,900	\$119,000
		\$10		\$10	12,600	\$126,000
\$5	\$5			\$10	12,600	\$126,000
\$5 + \$5				\$10	11,900	\$119,000
\$20				\$20	5,950	\$119,000
			\$20	\$20	6,230	\$124,600
\$5 + \$10	\$5			\$20	5,950	\$119,000
\$5	\$5	\$10		\$20	5,950	\$119,000
\$25				\$25	2,170	\$54,250
	\$5		\$20	\$25	2,170	\$54,250
\$5 (5X)				\$25	3,360	\$84,000
\$5 x 2	\$5	\$10		\$25	2,100	\$52,500
\$25 Instant Win				\$25	3,360	\$84,000
\$50				\$50	525	\$26,250
\$25 Instant Win	\$5		\$20	\$50	1,400	\$70,000
\$5 (5X) + \$10	\$5	\$10		\$50	1,155	\$57,750
\$10 (5X)				\$50	1,155	\$57,750
\$75				\$75	420	\$31,500
(\$5 x 9) + \$25 Instant Win	\$5			\$75	959	\$71,925
\$5 (5X) + \$10 + \$5	\$5	\$10	\$20	\$75	910	\$68,250
\$10 (5X)	\$5		\$20	\$75	840	\$63,000
\$100				\$100	420	\$42,000
(\$5 x 8) + \$25 Instant Win	\$5	\$10	\$20	\$100	665	\$66,500

Symbol of a gold bar

HOT SPOT BONUS

GLDBAR

Kansas Register .

\$20 (5X)				\$100	665	\$66,500
\$50 + \$25 Instant Win + \$10	\$5	\$10		\$100	560	\$56,000
\$500				\$500	105	\$52,500
\$50 (5X) + (\$20 x 12)		\$10		\$500	126	\$63,000
(\$100 x 2) + \$50 (5X) + \$10 +						
\$20			\$20	\$500	112	\$56,000
(\$10 x 5) + (\$5 x 5) +						
$(\$50 \times 3) + (\$100 \times 2) +$						
(\$20 x 2)	\$5	\$10	\$20	\$500	126	\$63,000
\$1,000				\$1,000	70	\$70,000
\$500 x 2				\$1,000	70	\$70,000
\$100 (5X) + (\$100 x 5)				\$1,000	84	\$84,000
\$50,000				\$50,000	4	\$200,000
Players Loyalty Program				\$34,789		\$34,789
Second Chance Drawing				\$5,000		\$5,000
				TOTAL	266,711	\$3,526,814

(j) The odds of winning a prize in this game are approximately one in 3.94. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-10-10-24, Sept. 18, 2024.)

111-4-3814. "Smoking Hot 7s" instant ticket lottery game number 438. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Smoking Hot 7s." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3814.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
03	THR
04	FOR
06	SIX
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
41	FRYONE

FRYTWO
FRYTHR
2TIMES
5TIMES
WIN\$50
Captions
TICKET
TEN\$
TWENTY
THIRTY
FIFTY
ONE-HUN
FIVE-HUN
ONETHOU
100-THOU

HOT SPOT BONUS	Play Symbols	Captions
	Symbol of a vault	VAULT
	Symbol of the sun	SUN
	Symbol of a pot of gold	POTGLD
	Symbol of a piggy bank	PGYBNK
	Symbol of a gold bar	GLDBAR
	Symbol of a coin	COIN
	Symbol of a clover	CLOVER
	Symbol of a watch	WATCH
	Symbol of a purse	PURSE
	Symbol of a rainbow	RNBOW
	Symbol of a flame	WIN\$10
	Symbol of a flame	WIN\$20
	Symbol of a flame	WIN\$30
	Symbol of a flame	WIN\$50

(c) For this game, a play/prize symbol shall appear in 61 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) "Smoking Hot 7s" is a key number match game with an instant win, multiplier features and four bonus "HOT SPOTS." The player will scratch the play area to reveal seven "HOT NUMBERS" and 25 "YOUR NUMBERS" with a prize amount shown to the right of each of the "YOUR NUMBERS." If the player matches any "YOUR NUMBER" to any of the "HOT NUMBERS," the player wins the prize amount shown to the right of that number. If a player reveals a symbol of a 2X, the player wins double the prize amount shown to the right of that symbol. If a player reveals a symbol of a 5X, the player wins five times the prize amount shown to the right of that symbol. If the player reveals a symbol of a 7 outlined, the player wins \$50. The player will scratch the four bonus "HOT SPOT" play areas. If the player reveals a symbol of a flame in the "HOT \$10" spot, the player wins \$10. If the player reveals a symbol of a flame in the "HOT \$20" spot, the player wins \$20. If the player reveals a symbol of a flame in the "HOT \$30" spot, the player wins \$30. If the player reveals a symbol of a flame in the "HOT \$50" spot, the player wins \$50.

(g) Each ticket in this game may win up to 29 times.

(h) Approximately 750,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

39

THRNIN

nave the same prize structure, t	le buille flui	liber of prizes	uno gui	ine brian be a	, 101101105.	147: D	
	Hot \$10	Hot \$20	Hot \$30	Hot \$50	Prize	Winners Per 750,000	Prize Cost
\$10 (Free Ticket)					\$10	64,500	\$645,000
\$10					\$10	50,000	\$500,000
	\$10				\$10	50,000	\$500,000
\$20					\$20	8,000	\$160,000
		\$20			\$20	8,000	\$160,000
\$10 (2X)					\$20	10,000	\$200,000
\$10	\$10				\$20	8,500	\$170,000
\$30					\$30	6,500	\$195,000
\$10 (2X)	\$10				\$30	7,500	\$225,000
			\$30		\$30	7,500	\$225,000
\$50					\$50	1,500	\$75,000
				\$50	\$50	1,750	\$87,500
\$10 (2X)	\$10	\$20			\$50	2,750	\$137,500
\$10 (5X)					\$50	2,750	\$137,500
\$50 Instant Win					\$50	2,750	\$137,500
\$100					\$100	500	\$50,000
		\$20	\$30	\$50	\$100	500	\$50,000
\$50 + \$50 Instant Win					\$100	1,075	\$107,500
(\$30 x 2) + \$10 (2X)		\$20			\$100	1,075	\$107,500
\$10 (5X)		\$20	\$30		\$100	1,075	\$107,500
\$10 x 4	\$10			\$50	\$100	550	\$55,000
\$500					\$500	250	\$125,000
$50(2X) + (10 \times 19) + (20 \times 5)$	\$10	\$20	\$30	\$50	\$500	300	\$150,000
\$100 (5X)			·		\$500	300	\$150,000
$(2X) + (20 \times 7) + 50$ Instant Win	\$10	\$20	\$30	\$50	\$500	300	\$150,000
$(\$100 \times 4) + \50 Instant Win	4	\$20	\$30	400	\$500	275	\$137,500
\$1,000		+	400		\$1,000	20	\$20,000
\$500 x 2					\$1,000	20	\$20,000
\$100,000					\$100,000	4	\$400,000
Players Loyalty Program					\$51,850	-	\$51,850
2nd Chance Drawing					\$10,000		\$10,000
					TOTAL	238,244	\$5,246,850
(i) The odds of winning a prize	in this com					,	
(j) The odds of winning a prize					15		FIFTN
imately one in 3.15. (Authorize					16		SIXTN
74-8710; implementing K.S.A.					17		SEVTN
K.S.A. 74-8720; effective, T-111-	10-10-24, Se	pt. 18, 2024.)			18		EGTN
111-4-3815. "Scorching H	ot 7s″ insta	nt ticket lot-			19		NINTN
tery game number 439. (a) The					21		TWYONE
					22		TWYTWO
duct an instant winner lottery §							
Hot 7s." The rules for this game	e are contail	ned in K.A.K.			23		TWYTHR
111-3-1 <i>et seq</i> . and 111-4-3815.					24		TWYFOR
(b) The "play and prize sym	bols" and "	captions" for			25		TWYFIV
this game are as follows:					26		TWYSIX
Play Syn	nhole	Captions			27		TWYSEV
	110015	-			28		TWYEGT
01		ONE			29		TWYNIN
02		TWO			31		THRONE
03		THR			32		THRTWO
04		FOR					
06		SIX			33		THRTHR
08		EGT			34		THRFOR
09		NIN			35		THRFIV
11		ELVN			36		THRSIX
12		TWLV			37		THRSEV
12		THRN			38		THREGT
13		EDTN			30		THRMIN

FRTN

14

но

1	61	7
---	----	---

	40	FORTY
	41	FRYONE
	42	FRYTWO
	43	FRYTHR
	5X	5TIMES
	10X	10TIMES
5	Symbol of a 7 outlined	WIN\$100
	Prize Symbols	Captions
	10.00	TEN\$
	20.00	TWENTY
	30.00	THIRTY
	50.00	FIFTY
	\$100	ONE-HUN
	\$200	TWO-HUN
	\$500	FIVE-HUN
	\$1000	ONETHOU
	\$10000	10-THOU
	\$200000	200-THOU
T SPOT BONUS	Play Symbols	Captions
	Symbol of a vault	VAULT
	Symbol of the sun	SUN
S	ymbol of a pot of gold	POTGLD
	ymbol of a piggy bank	PGYBNK
	Symbol of a gold bar	GLDBAR
	Symbol of a coin	COIN
	Symbol of a clover	CLOVER
	Symbol of a watch	WATCH
	Symbol of a purse	PURSE
	Symbol of a rainbow	RNBOW
	Symbol of a flame	WIN\$20
	Symbol of a flame	WIN\$30
	Symbol of a flame	WIN\$50
	Symbol of a flame	WIN\$100
	Symbol of a flame	WIN\$200

10

(c) For this game, a play/prize symbol shall appear in 62 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.

(e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.

(f) "Scorching Hot 7s" is a key number match game with an instant win, multiplier features and five bonus "HOT SPOTS." The player will scratch the play area to reveal seven "HOT NUMBERS" and 25 "YOUR NUM-BERS" with a prize amount shown to the right of each of the "YOUR NUMBERS." If the player matches any "YOUR NUMBER" to any of the "HOT NUMBERS," the player wins the prize amount shown to the right of that number. If a player reveals a symbol of a 5X, the player wins five times the prize amount shown to the right of that symbol. If a player reveals a symbol of a 10X, the player wins 10 times the prize amount shown to the right of that symbol. If the player reveals a symbol of a 7 outlined, the player wins \$100. The player will scratch the five bonus "HOT SPOT" play areas. If the player reveals a symbol of a flame in the "HOT \$20" spot, the player wins \$20. If the player reveals a symbol of a flame in the "HOT \$30" spot, the player wins \$30. If the player reveals a symbol of a flame in the "HOT \$50" spot, the player wins \$50. If the player reveals a symbol of a flame in the "HOT \$100" spot, the player wins \$100. If the player reveals a symbol of a flame in the "HOT \$200" spot, the player wins \$200.

(g) Each ticket in this game may win up to 30 times.

(h) Approximately 540,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 180,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

							Winners Pe	er
	Hot \$20	Hot \$30	Hot \$50	Hot \$100	Hot \$200	Prize	540,000	Prize Cost
\$20						\$20	45,000	\$900,000
	\$20					\$20	43,500	\$870,000
\$30						\$30	18,000	\$540,000
		\$30				\$30	18,600	\$558,000
\$50						\$50	10,200	\$510,000
			\$50			\$50	10,200	\$510,000
\$10 (5X)						\$50	12,000	\$600,000
\$100						\$100	900	\$90,000
				\$100		\$100	900	\$90,000
\$100 Instant Win						\$100	1,200	\$120,000
$($20 \times 2) + 10	\$20	\$30				\$100	750	\$75,000
\$10 (10X)						\$100	1,200	\$120,000
\$50			\$50			\$100	900	\$90,000
\$20 (5X)						\$100	1,200	\$120,000
\$200						\$200	375	\$75,000
					\$200	\$200	375	\$75,000
\$10 x 2		\$30	\$50	\$100		\$200	450	\$90,000
\$100 Instant Win + \$50			\$50			\$200	600	\$120,000
\$50 x 2				\$100		\$200	450	\$90,000
\$30 (5X)	\$20	\$30				\$200	600	\$120,000
\$500						\$500	120	\$60,000
\$100 (5X)						\$500	210	\$105,000
								(continued)

Kansas Register _

\$100 Instant Win + (\$20 x 5) + (\$50 x 2)	\$20	\$30	\$50	\$100		\$500	150	\$75,000
$(\$20 \times 10) + \30	\$20	φου	\$50	φ100	\$200	\$500	120	\$60,000
\$50 (10X)	, -		,		1	\$500	216	\$108,000
\$1,000						\$1,000	45	\$45,000
\$50 (10X) + (\$20 x 5)	\$20	\$30	\$50	\$100	\$200	\$1,000	66	\$66,000
\$200 (5X)						\$1,000	66	\$66,000
(\$50 x 17) + \$100 Instant Win	\$20	\$30				\$1,000	66	\$66,000
(\$20 x 19) + (\$50 x 4) + (\$10 x 2)	\$20	\$30	\$50	\$100	\$200	\$1,000	45	\$45,000
(\$20 x 10) + \$200 + (\$50 x 4) + (\$100 x 3) + \$100 Instant Win						\$1,000	66	\$66,000
\$10,000						\$10,000	9	\$90,000
$(\$20 \times 4) + (\$50 \times 5) + (\$200 \times 7) + (\$500 \times 2) + (\$1,000 \times 7)$	\$20		\$50		\$200	\$10,000	9	\$90,000
\$1,000 (10X)						\$10,000	9	\$90,000
\$500 x 20						\$10,000	9	\$90,000
\$200,000						\$200,000	4	\$800,000
Players Loyalty Program						77,000.00		\$77,000
2nd Chance Drawing						\$15,000		\$15,000
						TOTAL	168,610	\$7,777,000

(j) The odds of winning a prize in this game are approximately one in 3.20. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-10-10-24, Sept. 18, 2024.)

111-4-3816. "Fiery Hot 7s" instant ticket lottery game number 440. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Fiery Hot 7s." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3816.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
06	SIX
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
36	THRSIX
37	THRSEV

38	THREGT
39	THRNIN
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
5X	5TIMES
10X	10TIMES
20X	20TIMES
Symbol of a 7 outlined	WIN\$200

Prize Symbols	Captions
$10^{.00}$	TEN\$
15.00	FIFTEEN
20.00	TWENTY
35.00	THTYFIV
40.00	FORTY
50.00	FIFTY
\$100	ONE-HUN
\$200	TWO-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$10000	10-THOU
\$300000	300-THOU

	HOT SPOT BONUS	Play Symbols	Captions
7		Symbol of a vault	VAULT
2		Symbol of the sun	SUN
) >	1	Symbol of a pot of gold	POTGLD
•	(Symbol of a piggy bank	PGYBNK
•		Symbol of a gold bar	GLDBAR
		Symbol of a coin	COIN
		Symbol of a clover	CLOVER
		Symbol of a watch	WATCH
[Symbol of a purse	PURSE
		Symbol of a rainbow	RNBOW
3		Symbol of a flame	WIN\$35
)		Symbol of a flame	WIN\$40
2		Symbol of a flame	WIN\$50
		Symbol of a flame	WIN\$100
		Symbol of a flame	WIN\$200
		Symbol of a flame	WIN\$500

Kansas Register _

(c) For this game, a play/prize symbol shall appear in 63 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 019.

(e) The price of instant tickets sold by a retailer for this game shall be \$30.00 each.

(f) "Fiery Hot 7s" is a key number match game with an instant win, multiplier features and six bonus "HOT SPOTS." The player will scratch the play area to reveal seven "HOT NUMBERS" and 25 "YOUR NUMBERS" with a prize amount shown to the right of each of the "YOUR NUMBERS." If the player matches any "YOUR NUMBER" to any of the "HOT NUMBERS," the player wins the prize amount shown to the right of that number. If a player reveals a symbol of a 5X, the player wins five times the prize amount shown to the right of that symbol. If a player reveals a symbol of a 10X, the player wins 10 times the prize amount shown to the right of that symbol. If a player reveals a symbol of a 20X, the player wins 20 times the prize amount shown to the right of that symbol. If the player reveals a symbol of a 7 outlined, the player wins \$200. The player will scratch the six bonus "HOT SPOT" play areas. If the player reveals a symbol of a flame in the "HOT \$35" spot, the player wins \$35. If the player reveals a symbol of a flame in the "HOT \$40" spot, the player wins \$40. If the player reveals a symbol of a flame in the "HOT \$50" spot, the player wins \$50. If the player reveals a symbol of a flame in the "HOT \$100" spot, the player wins \$100. If the player reveals a symbol of a flame in the "HOT \$200" spot, the player wins \$200. If the player reveals a symbol of a flame in the "HOT \$200" spot, the player wins \$500.

(g) Each ticket in this game may win up to 31 times.

(h) Approximately 450,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Hot \$35	Hot \$40	Hot \$50	Hot \$100	Hot \$200	Hot \$500	Prize	Winners Per 450,000	Prize Cost
\$35							\$35	24,000	\$840,000
	\$35						\$35	26,160	\$915,600
\$40							\$40	21,000	\$840,000
		\$40					\$40	21,000	\$840,000
\$50							\$50	4,800	\$240,000
			\$50				\$50	6,300	\$315,000
\$10 (5X)							\$50	7,500	\$375,000
\$15	\$35						\$50	4,800	\$240,000
\$100							\$100	2,100	\$210,000
				\$100			\$100	2,400	\$240,000
\$10 (10X)							\$100	3,000	\$300,000
\$50			\$50				\$100	2,100	\$210,000
\$10 + \$15	\$35	\$40					\$100	2,400	\$240,000
\$200							\$200	675	\$135,000
					\$200		\$200	750	\$150,000
\$200 Instant Win							\$200	1,200	\$240,000
\$20 (5X) + \$50			\$50				\$200	975	\$195,000
\$10 x 10				\$100			\$200	750	\$150,000
\$20 (10X)							\$200	975	\$195,000
\$500							\$500	300	\$150,000
						\$500	\$500	390	\$195,000
(\$10 x 8) + \$20 (5X) + \$35	\$35		\$50		\$200		\$500	300	\$150,000
\$20 (10X) + \$35 + (\$10 x 4)	\$35	\$40	\$50	\$100			\$500	390	\$195,000
$10 (20X) + (35 \times 4) + 10$			\$50	\$100			\$500	360	\$180,000
(\$50 x 5) + \$200 Instant Win			\$50				\$500	330	\$165,000
\$1,000							\$1,000	150	\$150,000
\$10 (5X) + \$35 + \$200 Instant Win + \$40	\$35	\$40		\$100		\$500	\$1,000	150	\$150,000
$10 (20X) + (35 \times 4) + 10$			\$50	\$100		\$500	\$1,000	150	\$150,000
$50 (10X) + (40 \times 5) + (20 \times 10) + (50 \times 2)$							\$1,000	150	\$150,000
$($35 \times 7) + ($40 \times 5) + ($100 \times 2) + $50 + 15		\$40	\$50		\$200		\$1,000	150	\$150,000
\$10,000							\$10,000	15	\$150,000
$35 + 10 + (20 \times 4) + 50 + (100 \times 3) + (520 \times 3) + (5$	#0-	¢ 40	#5 0	¢100	#2 00	# F 00	#10.000	1 -	#1=0.000
$(\$200 \times 3) + (\$500 \times 8) + (\$1,000 \times 4)$	\$35	\$40	\$50	\$100	\$200	\$500	\$10,000	15	\$150,000
\$200 (20X) + (\$500 x 10) + (\$20 x 10) + \$200 Instant Win + \$100						\$500	\$10,000	15	\$150,000
\$300,000						φουυ	\$300,000	3	\$900,000
Players Loyalty Program							\$100,240	3	\$900,000 \$100,240
Second Chance Program							\$20,000		\$100,240 \$20,000
Second Chance I Togram							TOTAL	135,753	\$20,000
							IUIAL	155,755	ψ10,120,040

(j) The odds of winning a prize in this game are approximately one in 3.31. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-10-10-24, Sept. 18, 2024.)

111-4-3817. "\$50, \$100 or \$200" instant ticket lottery game number 442. (a) The Kansas lottery may conduct an instant winner lottery game entitled "\$50, \$100 or \$200." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3817.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
10	TEN
10	ELVN
12	TWLV
13	THRN
10	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
Symbol of a money bag	WIN

Captions
FIFTY
ONE-HUN
TWO-HUN

(c) For this game, a play/prize symbol shall appear in 65 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) "\$50, \$100 or \$200" is a key number match game with an instant win. A player will scratch the play area to reveal five "WINNING NUMBERS" and 30 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize amount shown below the "YOUR NUMBER." If the player reveals a symbol of a money bag, the player wins the prize amount shown for that symbol automatically.

(g) Each ticket in this game may win up to two times.

(h) Approximately 720,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 180,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

r	Money Bag Wins	Prize	Winners Per 720,000	Prize Cost
\$50		\$50	37,400	\$1,870,000
	\$50	\$50	24,920	\$1,246,000
\$100		\$100	3,120	\$312,000
	\$100	\$100	2,080	\$208,000
\$50	\$50	\$100	1,120	\$112,000
\$50 x 2		\$100	1,680	\$168,000
\$200		\$200	2,400	\$480,000
	\$200	\$200	1,600	\$320,000
\$100	\$100	\$200	864	\$172,800
\$100 x 2		\$200	1,296	\$259,200
Players Loyalty Program		\$51,480		\$51,480
		TOTAL	76,480	\$5,199,480

(j) The odds of winning a prize in this game are approximately one in 9.41. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-10-10-24, Sept. 18, 2024.)

111-4-3818. "\$100, \$200 or \$500" instant ticket lottery game number 443. (a) The Kansas lottery may conduct an instant winner lottery game entitled "\$100, \$200 or \$500." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3818.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
05	FIV

the "YOUR NUMBER." If the player reveals a sy	mbol of
a money bag, the player wins the prize amoun	t shown
for that symbol automatically.	

(g) Each ticket in this game may win up to three times. (h) Approximately 480,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Money Bag Wins	Prize	Winners Per 480,000	Prize Cost
\$100		\$100	26,000	\$2,600,000
	\$100	\$100	14,000	\$1,400,000
\$200		\$200	3,900	\$780,000
	\$200	\$200	2,100	\$420,000
\$100	\$100	\$200	1,400	\$280,000
\$100 x 2		\$200	2,600	\$520,000
\$500		\$500	1,000	\$500,000
	\$500	\$500	700	\$350,000
\$200 + \$100	\$200	\$500	700	\$350,000
Players Loyalty Program	n	\$72,000	1	\$72,000
		TOTAL	52,400	\$7,272,000

(j) The odds of winning a prize in this game are approximately one in 9.16. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-10-10-24, Sept. 18, 2024.)

Article 5.—MULTI-STATE ONLINE GAMES AND DRAWINGS

111-5-23. Definitions. The following definitions shall apply to the "Powerball" game:

(a) "Advertised grand prize" shall mean the estimated annuitized grand prize amount as determined by the MUSL central office by use of the MUSL annuity factor and communicated through the selling lotteries prior to the grand prize drawing. The "advertised grand prize" is not a guaranteed prize amount and the actual grand prize amount may vary from the advertised amount, except in circumstances where there is a guaranteed grand prize amount as described in these rules.

(b) "Computer pick" means the random selection of indicia by the computer, which appear on a ticket and are played by a player in the game.

(c) "Drawing" refers collectively to the formal draw event for randomly selecting the winning indicia which determine the number of winners for each prize level of the Powerball game and the Power Play multiplier. Winning indicia include the winning numbers for the Powerball game, and the Power Play multiplier.

(d) "Game board" or "board" means that area of the play slip which contains sets of numbered circles to be marked by the player.

(e) "Game ticket" or "ticket" means an acceptable evidence of play, which is a ticket produced in a manner that meets the specifications defined in these rules and is either:

(1) a physical representation of the play or plays sold to the player; or,

(continued)

06	SIX
07	SEV
08	EGT
09	NIN
10	TEN
10	ELVN
12	TWLV
12	THRN
13	FRTN
14	FIFTN
	SIXTN
16 17	SEVTN
	EGTN
18	
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
Symbol of a money bag	WIN
,	
Prize Symbols	Captions
\$100	ONE-HUN

2	1
\$100	ONE-HUN
\$200	TWO-HUN
\$500	FIVE-HUN

(c) For this game, a play/prize symbol shall appear in 65 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.

(e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.

(f) "\$100, \$200 or \$500" is a key number match game with an instant win. A player will scratch the play area to reveal five "WINNING NUMBERS" and 30 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUM-BERS," the player wins the prize amount shown below (2) electronic evidence of a ticketless transaction in the form of registered play.

(f) "Grand prize" refers to the top prize in the Powerball game.

(g) "Licensee lottery" shall mean a state lottery or lottery of a governmental unit, political subdivision, or entity thereof that is not a party lottery but has agreed to comply with all applicable MUSL and product group requirements and has been authorized by the MUSL and by the Powerball product group to sell the Powerball game.

(h) "MUSL" means the Multi-State Lottery Association, a government-benefit association wholly owned and operated by the party lotteries.

(i) "MUSL annuity factor" shall mean the annuity factor as determined by the MUSL central office through a method approved by the MUSL finance and audit committee and which is used as described in these rules.

(j) "MUSL board" means the governing body of the MUSL which is comprised of the chief executive officer of each party lottery.

(k) "Online lottery game" means a lottery game connected by telephone lines, satellite or other similar communication methodology, owned or controlled by the lottery, to a central computer in which each player selects numbers out of a larger predetermined set or sets of numbers.

(l) "Party Lottery" or "Member Lottery" means a state lottery or lottery of a political subdivision or entity which has joined the MUSL and, in the context of these Powerball product group rules, that is authorized to sell the Powerball game. Unless otherwise indicated, "party lottery" or "member lottery" does not include "licensee lotteries."

(m) "Play" or "bet" means the six numbers, the first five from a field of 69 numbers and the last one from a field of 26 numbers, that appear on a ticket as a single lettered selection and are to be played by a player in the Powerball game.

(n) "Play slip" or "bet slip" means a card used in marking a player's game plays and containing one or more boards.

(o) "Power play" or "multiplier option" means the Powerball game option whereby a player may elect to pay an additional \$1 per play at the time of ticket purchase which will have the effect of multiplying any prize won on the play, except the grand prize.

(p) "Product group" means the group of lotteries which has joined together to offer a product pursuant to the terms of the multi-state lottery agreement and the product group's own rules.

(q) "Registered play" means a wager where the play is owned by a specifically identified player through a means acceptable to the Kansas lottery, and which is recorded on the computer gaming system and internal computer system.

(r) "Retailer" or "agent" means a person or entity authorized by the Kansas lottery to sell lottery plays.

(s) "Selling lottery" means a lottery authorized by the product group to sell Powerball plays, including party lotteries and licensee lotteries.

(t) "Set Prize," also referred to as "low-tier prize," means all other prizes except the grand prize and, except

in rare instances outlined in these rules, will be equal to the prize amount established by the MUSL Board for the prize level.

(u) "Terminal" means a device authorized by a party lottery to function in an online, interactive mode with the computer gaming system for the purpose of issuing lottery tickets and entering, receiving and processing lottery transactions, including purchases, validating tickets and transmitting reports.

(v) "Validation" or "validate" means the process of determining whether a ticket presented for a prize is a winning ticket.

(w) "Wallet" means an online service which tracks a player's deposits, purchases, and prize payments. A player may make deposits, purchases, and withdrawals from the wallet according to the terms and conditions of the player loyalty program defined in K.A.R. 111-18-1, *et seq.*

(x) "Winning numbers" means the indicia randomly selected during a drawing event which shall be used to determine winning plays for the Powerball game contained on a game ticket. (Authorized by and implementing K.S.A. 2023 Supp. 74-8710; effective, T-111-3-5-92, Feb. 21, 1992; amended, T-111-3-24-92, March 20, 1992; amended, T-111-6-27-96, June 21, 1996; amended, T-111-10-27-97, Sept. 12, 1997; amended, T-111-3-14-01, Feb. 16, 2001; amended, T-111-10-15-02, Sept. 13, 2002; amended, T-111-7-29-05, July 15, 2005; amended, T-111-2-20-09, Dec. 11, 2008; amended, T-111-2-9-12, Dec. 14, 2011; amended, T-111-4-4-14, Dec. 11, 2013; amended, T-111-10-8-15, Sept. 9, 2015; amended, T-111-10-24, Sept. 18, 2024.)

111-5-24. Game description; retail sale of tickets. (a) "Powerball" is a five-out-of-69 plus one-out-of-26 numbers lottery game, drawn every Monday, Wednesday and Saturday as part of the Powerball drawing event, which pays the grand prize, at the election of the player made in accordance with the rules or by a default election made in accordance with these rules, either on an annuitized pari-mutuel basis, or as a single lump sum payment of the total funding held in the grand prize pool for the winning drawing on a pari-mutuel basis. Except as provided in these rules, all other prizes are paid on a single payment basis. Powerball winning numbers applicable to determine Powerball prizes will be determined in the Powerball drawing event. The drawing procedures shall include procedures for randomly selecting the Powerball game winning numbers and the Power Play multiplier.

To play "Powerball" a player shall select or computer pick five different numbers from one through 69 and one additional number from one through 26 for input into a terminal. The additional number may be the same as one of the first five numbers selected by the player.

(b) A "Powerball" play shall sell for two dollars.

(c) Plays shall not be sold to any person under the age of 18 years. Each retailer may require a person purchasing plays to produce proof of age.

(d) Each play shall be purchased from a terminal operated by a retailer. The player may select a set of five numbers and one additional number by:

(1) communicating the six numbers to the retailer;

(2) marking six numbered circles in any one game board on a play slip and submitting the play slip to the retailer; or (3) requesting a computer pick from the retailer.

A player may choose the multiplier option by marking the appropriate box on the play slip or by communicating to the retailer the desire to play the multiplier option. If the multiplier option is chosen, it shall apply to all boards played on that play slip. For each board upon which the multiplier option is chosen, the player shall pay one additional dollar.

¹ The retailer shall then issue a ticket from the terminal containing the selected set or sets of numbers, each of which constitutes a game play, and if applicable, whether or not the multiplier option has been chosen for all plays on that play slip.

(e) A player may purchase a registered play from the Kansas lottery. The player may select a set of five numbers and one additional number by:

(1) marking six numbered circles in any one game board on a play slip made available by the Lottery and submitting the play slip to the Lottery; or

(2) requesting a computer pick from the Lottery in a form and manner acceptable to the Lottery.

(f) A validated ticket shall be the only proof of a game play or plays. The only method of claiming a prize or prizes shall be the submission of the winning ticket to and receipt of the ticket by the lottery or its authorized agent. A play slip shall have no pecuniary or prize value and shall not be used as evidence of a play purchase or of numbers selected.

(g) A play may not be voided or cancelled by returning the ticket to the selling retailer, including tickets that are printed in error. The Kansas lottery has an approved method of compensating retailers for plays that are not transferred to a player for reasons acceptable to the Kansas lottery. No play that is eligible for a prize can be returned to the Kansas lottery for credit. Plays accepted by retailers as returned plays and that cannot be re-sold shall be deemed owned by the bearer thereof unless the ticket has been signed.

(h) Ticket sales will end at approximately 8:59 p.m. central time (CT) on Wednesdays, Saturdays and Mondays, and will resume at approximately 9:05 p.m. central time (CT).

(i) Drawings will be conducted three times weekly, on Wednesdays, Saturdays, and Mondays, at approximately 9:58 p.m. central time (CT), after the game is closed at approximately 8:59 p.m. central time (CT) and the draw official has verified that the game is closed, under conditions and procedures promulgated by the executive director of the lottery.

(j) Each player shall be responsible for verifying the accuracy of the game play or plays and other data printed on the ticket. The placing of plays is done at the player's own risk and the Kansas lottery or a retailer entering a play shall be deemed to be acting on behalf of the player in entering the play. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8718; effective, T-111-3-5-92, Feb. 21, 1992; amended, T-111-3-24-92, March 20, 1992; amended, T-111-5-21-92, May 15, 1992; amended, T-111-10-27-97, Sept. 12, 1997; amended, T-111-1-21-99, Jan. 15, 1999; amended, T-111-3-14-01, Feb. 16, 2001; amended, T-111-10-15-02, Sept. 13, 2002; amended, T-111-7-29-05, July 15, 2005; amended, T-111-2-20-09, Dec.

11, 2008; amended, T-111-2-9-12, Dec. 14, 2011; amended, T-111-10-8-15, Sept. 9, 2015; amended, T-111-5-7-21, April 14, 2021; amended, T-111-10-10-24, Sept. 18, 2024.)

111-5-28. Prize payments; annuitized and cash prizes. (a) Grand prizes shall be paid, at the election of the player made no later than 60 days after the player becomes entitled to a prize, as either a per winner annuity or cash payment. If the payment election is not made at the time of purchase and is not made by the player within 60 days after the player becomes entitled to the prize, then the prize shall be paid as an annuity prize. An election for an annuity payment made by a player before ticket purchase or by system default or design may be changed to a cash payment at the election of the player until the expiration of 60 days after the player becomes entitled to the prize. The election to take the cash payment may be made at the time of the prize claim or within 60 days after the player becomes entitled to the prize. An election made after the winner becomes entitled to the prize is final and cannot be revoked, withdrawn or otherwise changed. Shares of the grand prize shall be determined by dividing the cash available in the grand prize pool equally among all winning plays of the grand prize. Winner(s) who elected a cash payment shall be paid their share(s) in a single cash payment. The annuitized option prize shall be determined by multiplying a winner's share of the grand prize pool by the MUSL annuity factor. The MUSL annuity factor is determined through a process as approved by the MUSL finance and audit committee. Neither MUSL nor the party lotteries shall be responsible or liable for changes in the advertised or estimated annuity prize amount and the actual amount of tickets purchased after the prize payment method is actually known to MUSL. In certain instances announced by the product group, the grand prize shall be a guaranteed amount and shall be determined pursuant to subsection (f) of K.A.R. 111-5-28. If individual shares of the cash held to fund an annuity are less than \$250,000, the product group, in its sole discretion, may elect to pay the winners their share of the cash held in the grand prize pool of the annuity. All annuitized prizes shall be paid annually in 30 payments with the initial payment being made in cash, to be followed by 29 payments funded by the annuity. All annuitized prizes shall be paid annually in 30 graduated payments (increasing each year) by a rate as determined by the product group. Prize payments may be rounded down to the nearest one-thousand dollars (\$1,000). Annual payments after the initial payment shall be made by the lottery on the anniversary date, or if such date falls on a non-business day, then on the first business day following the anniversary date of the selection of the grand prize winning numbers. Funds for the initial payment of an annuitized prize shall be made available by MUSL for payment by a party lottery by the fifteenth calendar day following the drawing or the next banking day if the fifteenth day is a non-business day. If necessary, when the due date for the payment of a prize occurs before the receipt of funds in the prize pool trust sufficient to pay the prize, the transfer of funds for the payment of the full lump sum cash option amount may be delayed pending receipt of funds from the selling lot-(continued)

teries. A state may elect to make the initial payment from its own funds after validation, with notice to MUSL. If a party lottery purchases or holds the prize payment annuity for a prize won in that jurisdiction, that party lottery's game rules, and any prize payment agreement with the prize winner, shall indicate that the prize winner has no recourse on the MUSL or any other party lottery for payment of that prize.

(b) In the event of the death of a lottery winner during the annuity payment period, the MUSL finance and audit committee, in its sole discretion excepting a discretionary review by the product group, upon the petition of the estate of the lottery winner to the lottery and subject to federal, state, or applicable laws, may accelerate the payment of all of the remaining lottery proceeds to the estate. If such a determination is made, then securities and cash held to fund the deceased lottery winner's annuitized prize may be distributed to the estate. The identification of the securities to fund the annuitized prize shall be at the sole discretion of the product group.

(c) All prizes (whether described as "cash" payment prizes or otherwise) shall be paid through the selling lottery which sold the winning play(s) and at the discretion of the selling lottery that sold the winning play(s) may be paid by cash, check, warrant, or electronic transfer. A selling lottery may begin paying low-tier cash prizes after receiving authorization to pay from the MUSL central office. If a selling lottery, due to jurisdictional law requirements, separately determines its low-tier prize amounts, it shall be solely responsible for its low-tier prize liability, and may begin paying low-tier prizes after a drawing when it determines it is appropriate to do so.

(d) Annuitized payments of the grand prize or a share of the grand prize may be rounded to facilitate the purchase of an appropriate funding mechanism. Breakage on an annuitized grand prize win shall be added to the first cash payment to the winner or winners. Prizes other than the grand prize, which, under these rules, may become single-payment, pari-mutuel prizes, may be rounded down so that prizes can be paid in multiples of whole dollars. Breakage resulting from rounding these prizes shall be carried forward to the prize pool for the next drawing.

(e) If the grand prize is not won in a drawing, the prize money allocated for the grand prize shall roll over and be added to the grand prize pool for the following drawing.

(f) The product group may offer guaranteed minimum grand prize amounts or minimum increases in the grand prize amount between drawings or make other changes in the allocation of prize money where the product group finds that it would be in the best interest of the game. If a minimum grand prize amount or a minimum increase in the grand prize amount between drawings is offered by the product group, then the grand prize shares shall be determined as follows. If there are multiple grand prize winners during a single drawing, each selecting the annuitized option prize, then a winner's share of the guaranteed annuitized grand prize shall be determined by dividing the guaranteed annuitized grand prize by the number of winning plays. If there are multiple grand prize winners during a single drawing and at least one of the grand prize winners has elected the annuitized option prize, then the best bid submitted by MUSL's preapproved qualified brokers shall determine the cash pool needed to fund the guaranteed annuitized grand prize. If no winner of the grand prize during a single drawing has elected the annuitized option prize, then the amount of cash in the grand prize pool shall be an amount equal to the guaranteed annuitized amount divided by the MUSL annuity factor. Changes in the allocation of prize money shall be designed to retain approximately the same prize allocation percentages, over a year's time, set out in these rules. Minimum guaranteed prizes or increases may be waived if the alternate funding mechanism set out in K.A.R. 111-5-26 becomes necessary. Approval of the product group is required to change the guaranteed minimum grand prize amounts or minimum increases in the grand prize amount. Any reduction in the guaranteed minimum grand prize amount or reduction in the minimum increases to the grand prize amount shall not become effective until after a grand prize win following the action taken by the product group.

(g) The holder of a winning play may win only one prize per play in connection with the winning numbers drawn, and shall be entitled only to the prize won by those numbers in the highest matching prize category.

(h) All prizes must be claimed within 365 days of the day of the drawing in which the prize was won, except prizes arising from registered plays must be claimed within 180 days of the day of the drawing in which the prize was won. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing 2023 Supp. K.S.A. 74-8710 and K.S.A. 74-8731; effective, T-111-3-5-92, Feb. 21, 1992; amended, T-111-3-24-92, March 20, 1992; amended, T-111-2-23-93, Feb. 19, 1993; amended, T-111-6-27-96, June 21, 1996; amended, T-111-10-27-97, Sept. 12, 1997; amended, T-111-1-21-99, Jan. 15, 1999; amended, T-111-8-20-02, Aug. 14, 2002; amended, T-111-10-15-02, Sept. 13, 2002; amended, T-111-7-29-05, July 15, 2005; amended, T-111-2-20-09, Dec. 11, 2008; amended, T-111-2-9-12, Dec. 14, 2011; amended, T-111-4-4-14, Dec. 11, 2013; amended, T-111-10-8-15, Sept. 9, 2015; amended, T-111-10-10-24, Sept. 18, 2024.)

111-5-30. Claiming prizes; procedure and time period. (a) Prior to the payment of any prize, each ticket shall be validated by the retailer or lottery office pursuant to this act.

(b) The procedures for payment of a "Powerball" prize on any single printed game ticket of \$599 or less, except for a grand prize, are as follows:

(1) The claimant of a ticket purchased in Kansas may present the ticket to any Kansas lottery on-line retailer. Upon validation of the ticket, the retailer shall immediately make payment for the prize to the claimant. If the retailer cannot validate the ticket, the claimant shall fill out a claim form provided by the retailer and personally present or mail the completed form together with the ticket to the office of the Kansas lottery. If the ticket is validated, then payment shall be made to the claimant by mail.

(2) The claimant may bring the ticket to the office of the Kansas lottery during the hours that the office is open to the public for business. Upon validation of the ticket, and completion of a claim form, payment shall be processed for the claimant.

(3) The claimant may mail the ticket with a completed claim form in any envelope to the office of the Kansas lottery. Claim forms may be obtained from any lottery retailer or from the Kansas lottery. Upon receipt of the ticket and completed claim form and validation of the ticket, payment shall be processed for the claimant.

If any evidence of alteration, mutilation, tear, or other ambiguity appears on the ticket, the retailer shall not make direct payment of a prize. The claimant shall submit a claim form with the ticket to the lottery.

(c) The procedure for the payment of a Powerball prize on any single printed game ticket which exceeds \$599 or more shall be as follows:

(1) The claimant may bring the signed ticket to the office of the Kansas lottery during the hours that the office is open to the public for business. Upon validation of the ticket and completion of a claim form, payment shall be processed for the claimant.

(2) The claimant may mail the ticket with a completed claim form to the office of the Kansas lottery. Claim forms may be obtained from any lottery retailer or from the Kansas lottery. Upon receipt of the ticket and completed claim form and validation of the ticket, payment shall be processed for the claimant.

(d) If a prize is claimed by mail, the ticket and claim form must actually be received by the lottery within the claim period.

(e) All prizes shall be claimed within 365 days of the drawing in which the prize was won, except prizes arising from registered plays must be claimed within 180 days of the day of the drawing in which the prize was won. Any prize or prizes not claimed within the time specified shall be forfeited.

(f) Payment of a Powerball prize of \$599 or less on a registered play shall be paid to the winner's wallet upon validation of the ticket.

(g) Payment of a Powerball prize in excess of \$599 on a registered play shall be paid to the winner's wallet upon validation of the ticket and after the winner has completed a claim form provided by the Kansas lottery. The winner shall be required to provide additional information including a complete social security number, bank account and routing numbers, or other information reasonably required to verify the winner's identity and pay the prize if that information was not provided during account registration in the lottery's player loyalty program defined in K.A.R. 111-18-1 et seq. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and 74-8720; effective, T-111-3-5-92, Feb. 21, 1992; amended, T-111-10-27-97, Sept. 12, 1997; amended, T-111-3-31-00, March 17, 2000; amended, T-111-8-20-02, Aug. 14, 2002; amended, T-111-10-10-24, Sept. 18, 2024.)

Article 19.—SPECIFIC PLAYER LOYALTY CLUB RULES

111-19-192. Hot 7s Family Bonus Drawings. (a) The Kansas Lottery may conduct promotional drawings for each of the six instant ticket games listed in subsection (b) entitled "Hot 7s Family Bonus Drawings" awarding cash prizes to players selected as winners. Entries into the

drawings will be accepted beginning at 12:01 a.m. on the day the instant tickets are first offered for sale to the general public and ending at 11:59 p.m. on September 28, 2025. The drawings will be conducted sometime after entry into the drawings has closed but before noon on October 2, 2025, at which time the winners will be announced.

(b) The specific tickets eligible for entry into these drawings shall be the following Kansas Lottery instant ticket games: \$1 "Hot 7s" game number 435; \$2 "Burning Hot 7s" game number 436; \$5 "Blazing Hot 7s" game number 437; \$10 "Smoking Hot 7s" game number 438; \$20 "Scorching Hot 7s" game number 439; and \$30 "Fiery Hot 7s" game number 440.

(c) A player shall enter the drawings through the Kansas Lottery PlayOn program available at www.kslottery. com. The player shall follow the hyperlink specifically designated for the purpose of accessing the "Hot 7s Family Bonus Drawings" promotion. The player may enter the required data from the entry ticket manually for entry into the drawings. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the drawings using a mobile device and a downloaded Kansas Lottery PlayOn app. After the ticket data is successfully entered either manually or scanned using the app, the player will receive one entry into the drawings based on the specific ticket.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed. The first entrant selected in each drawing shall be the winner of a cash prize.

(1) The first drawing conducted shall be from among the entrants in the \$1 Hot 7s, game number 435, drawing. The cash prize awarded to the first entrant selected in the first drawing shall be \$1,000.

(2) The second drawing conducted shall be from among the entrants in the \$2 Burning Hot 7s, game number 436, drawing. The cash prize awarded to the first entrant selected in the second drawing shall be \$2,000.

(3) The third drawing conducted shall be from among the entrants in the \$5 Blazing Hot 7s, game number 437, drawing. The cash prize awarded to the first entrant selected in the third drawing shall be \$5,000.

(4) The fourth drawing conducted shall be from among the entrants in the \$10 Smoking Hot 7s, game number 438, drawing. The cash prize awarded to the first entrant selected in the fourth drawing shall be \$10,000.

(5) The fifth drawing conducted shall be from among the entrants in the \$20 Scorching Hot 7s, game number 439, drawing. The cash prize awarded to the first entrant selected in the fifth drawing shall be \$15,000.

(6) The sixth drawing conducted shall be from among the entrants in the \$30 Fiery Hot 7s, game number 440, drawing. The cash prize awarded to the first entrant selected in the sixth drawing shall be \$20,000.

(e) There is no limit on the number of tickets a player may enter. A player may win more than one drawing.

(f) The procedures set forth in K.A.R. 111-18-5 for contacting a winner and the claiming of the prize shall be followed. The Kansas Lottery is not responsible for electronic malfunction or player error.

Kansas Register _

(g) By entering the promotion, entrant agrees to Play-On terms and conditions.

(h) Winners are responsible for any state and federal taxes.

(i) Rules applicable to this promotion are contained in K.A.R. 111-19-192 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023

INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended, and revoked administrative regulations with a future effective date and the *Kansas Register* issue in which the regulation can be found. A complete listing and the complete text of all currently effective regulations required to be published in the *Kansas Administrative Regulations* can be found at https://www. sos.ks.gov/publications/pubs_kar.aspx.

AGENCY 4: DEPARTMENT OF AGRICULTURE

Reg. No.	Action	Register
4-15-5	Amended (T)	V. 43, Issue 42
4-15-7	Amended (T)	V. 43, Issue 42

AGENCY 28: DEPARTMENT OF HEALTH AND ENVIRONMENT

Reg. No.	Action	Register
28-16-28e	Amended	V. 43, Issue 43
28-16-28h	Amended	V. 43, Issue 43

AGENCY 92: DEPARTMENT OF REVENUE

Reg. No.	Action	Register
92-11-20	Revoked	V. 43, Issue 44
92-11-21	Revoked	V. 43, Issue 44
92-12-113	Revoked	V. 43, Issue 44

AGENCY 100: BOARD OF HEALING ARTS

Reg. No.	Action	Register
100-1-1	Amended	V. 43, Issue 43
100-2-2	Amended	V. 43, Issue 43
100-2-3	Amended	V. 43, Issue 43
100-2-4	Amended	V. 43, Issue 43
100-3-1	Revoked	V. 43, Issue 43
100-4-1	Amended	V. 43, Issue 43
100-4-2	Amended	V. 43, Issue 43
100-5-1	Amended	V. 43, Issue 43
100-5-2	Amended	V. 43, Issue 43

AGENCY 111: KANSAS LOTTERY

A complete index listing all regulations filed by the Kansas Lottery from 1988 through 2000 can be found in the Vol. 19, No. 52, December 28, 2000 *Kansas Register*. A list of regulations filed from 2001 through 2003 can be found in the Vol. 22, No. 52, December 25, 2003 *Kansas Register*. A list of regulations filed from 2004 through 2005 can be found in the Vol. 24, No. 52, December 29, 2005 *Kansas Register*. A list of regulations filed from 2007 can be found in the Vol. 26, No. 52, December 27, 2007 *Kansas Register*. A list of regulations filed from 2006 through 2007 can be found in the Vol. 26, No. 52, December 27, 2007 *Kansas Register*. A list of regulations filed from 2008 through No-

vember 2009 can be found in the Vol. 28, No. 53, December 31, 2009 Kansas Register. A list of regulations filed from December 1, 2009, through December 21, 2011, can be found in the Vol. 30, No. 52, December 29, 2011 Kansas Register. A list of regulations filed from December 22, 2011, through November 6, 2013, can be found in the Vol. 32, No. 52, December 26, 2013 Kansas Register. A list of regulations filed from November 7, 2013, through December 31, 2015, can be found in the Vol. 34, No. 53, December 31, 2015 Kansas Register. A list of regulations filed from 2016 through 2017, can be found in the Vol. 36, No. 52, December 28, 2017 Kansas Register. A list of regulations filed from 2018 through 2019, can be found in the Vol. 38, No. 52, December 26, 2019 Kansas Register. A list of regulations filed from 2020 through 2021, can be found in the Vol. 40, No. 52, December 30, 2021 Kansas Register. A list of regulations filed from 2022 through 2023 can be found in the Vol. 42, No. 52, December 28,

Doc. No. 052666

		52, December 28,	111-19-182	New	V. 43, Issue 30
2023 Kansas Register.			111-19-183	New	V. 43, Issue 31
0			111-19-184	New	V. 43, Issue 36
Reg. No.	Action	Register	111-19-185	New	V. 43, Issue 45
111-4-3547	Amended	V. 43, Issue 31	111-19-186	New	V. 43, Issue 45
111-4-3771	New	V. 43, Issue 5	111-19-187	New	V. 43, Issue 45
111-4-3772	New	V. 43, Issue 11	111-19-188	New	V. 43, Issue 45
111-4-3773	New	V. 43, Issue 12	111-19-189	New	V. 43, Issue 45
111-4-3774	New	V. 43, Issue 14	111-19-190	New	V. 43, Issue 45
111-4-3775	New	V. 43, Issue 29	111-19-191	New	V. 43, Issue 45
111-4-3776	New	V. 43, Issue 29	111-20-1	New	V. 43, Issue 5
111-4-3777	New	V. 43, Issue 29	111-20-2	New	V. 43, Issue 5
111-4-3778	New	V. 43, Issue 29	111-20-3	New	V. 43, Issue 5
111-4-3779	New	V. 43, Issue 29	111-20-4	New	V. 43, Issue 5
111-4-3780	New	V. 43, Issue 29	111-20-5	New	V. 43, Issue 5
111-4-3781	New	V. 43, Issue 29	111-20-6	New	V. 43, Issue 5
111-4-3782	New	V. 43, Issue 29	111-20-7	New	V. 43, Issue 5
111-4-3783	New	V. 43, Issue 29	111-20-8	New	V. 43, Issue 5
111-4-3784	New	V. 43, Issue 30	111-20-9	New	V. 43, Issue 5
111-4-3785	New	V. 43, Issue 30	111-20-10	New	V. 43, Issue 5
111-4-3786	New	V. 43, Issue 30	111-20-11	New	V. 43, Issue 5
111-4-3787	New	V. 43, Issue 30	111-20-12	New	V. 43, Issue 5
111-4-3788	New	V. 43, Issue 30	111-20-13	New	V. 43, Issue 5
111-4-3789	New	V. 43, Issue 30	111-20-14	New	V. 43, Issue 5
111-4-3790	New	V. 43, Issue 31	111-20-15	New	V. 43, Issue 5
111-4-3791	New	V. 43, Issue 31	111-20-16	New	V. 43, Issue 5
111-4-3792	New	V. 43, Issue 31	111-20-17	New	V. 43, Issue 5
111-4-3793	New	V. 43, Issue 31	111-20-18	New	V. 43, Issue 5
111-4-3794	New	V. 43, Issue 36	111-20-19	New	V. 43, Issue 5
111-4-3795	New	V. 43, Issue 36	111-20-20	New	V. 43, Issue 5
111-4-3796	New	V. 43, Issue 36	111-20-21	New	V. 43, Issue 5
111-4-3797	New	V. 43, Issue 36	111-20-22	New	V. 43, Issue 5
111-4-3798	New	V. 43, Issue 36	111-20-23	New	V. 43, Issue 5
111-4-3799	New	V. 43, Issue 36	111-21-1	New	V. 43, Issue 11
111-4-3800	New	V. 43, Issue 36	111-21-2	New	V. 43, Issue 11
111-4-3801	New	V. 43, Issue 36	111-21-3	New	V. 43, Issue 11
111-4-3802	New	V. 43, Issue 36	111-21-4	New	V. 43, Issue 11
111-4-3803	New	V. 43, Issue 36	111-21-5	New	V. 43, Issue 11
111-4-3804	New	V. 43, Issue 36	111-21-6	New	V. 43, Issue 11
111-4-3805	New	V. 43, Issue 36	111-21-7	New	V. 43, Issue 11
111-4-3806	New	V. 43, Issue 36	111-21-8	New	V. 43, Issue 11
111-4-3807	New	V. 43, Issue 36	111-21-9	New	V. 43, Issue 11
111-4-3808	New	V. 43, Issue 45	111-21-10	New	V. 43, Issue 11
111-4-3809	New	V. 43, Issue 45	111-21-11	New	V. 43, Issue 45
111-4-3810	New	V. 43, Issue 45	111-21-12	New	V. 43, Issue 45

Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-10-10-24, Sept. 18, 2024.)

New

Amended

Amended

Amended

111-9-233

111-9-234

111-9-235

111-9-236

111-9-237

111-15-1

111-15-3

111-18-5

111-19-169

111-19-170

111-19-171

111-19-172

111-19-173

111-19-174

111-19-175

111-19-176

111-19-177

111-19-178

111-19-179

111-19-180

111-19-181

111-19-182

Stephen W. Durrell Executive Director Kansas Lottery

V. 43, Issue 5

V. 43, Issue 12

V. 43, Issue 45

V. 43, Issue 45

V. 43, Issue 45

V. 43, Issue 31

V. 43, Issue 31

V. 43, Issue 12

V. 43, Issue 5

V. 43, Issue 12

V. 43, Issue 12

V. 43, Issue 12

V. 43, Issue 12

V. 43, Issue 14

V. 43, Issue 14

V. 43, Issue 14

V. 43, Issue 29

V. 43, Issue 29

V. 43, Issue 29 V. 43, Issue 29

V. 43, Issue 30

V. 43, Issue 30

Index to Regulations

_____ Kansas Register _____

				U				
111-21-13	New	V. 43, Issue 45	111-501-68	Amended	V. 43, Issue 45	112-201-16	New (T)	V. 42, Issue 44
111-21-14	New	V. 43, Issue 45	111-501-113	Amended	V. 43, Issue 11	112-201-17	New (T)	V. 42, Issue 44
111-22-1	New	V. 43, Issue 36	111-501-120	Amended	V. 43, Issue 45	112-201-18	New (T)	V. 42, Issue 44
111-22-2	New	V. 43, Issue 36	111-501-155	Amended	V. 43, Issue 11	112-201-19	New (T)	V. 42, Issue 44
111-22-3	New	V. 43, Issue 36	111-501-161	New	V. 43, Issue 30	112-201-20	New (T)	V. 42, Issue 44
111-22-4	New	V. 43, Issue 36				112-201-21	New (T)	V. 42, Issue 44
111-22-5	New	V. 43, Issue 36	ACTN			112-201-22	New (T)	V. 42, Issue 44
111-22-6	New	V. 43, Issue 36		CY 112: RACIN		112-201-23	New (T)	V. 42, Issue 44
111-22-7	New	V. 43, Issue 36	GAM	IING COMMI	5510N	112-202-1	New (T)	V. 42, Issue 44
111-22-8	New	V. 43, Issue 36	Reg. No.	Action	Register	112-202-2	New (T)	V. 42, Issue 44
111-22-9	New	V. 43, Issue 36	112-201-1	New (T)	V. 42, Issue 44	112-203-1	New (T)	V. 42, Issue 44
111-22-10	New	V. 43, Issue 36	112-201-2	New (T)	V. 42, Issue 44	112-203-2	New (T)	V. 42, Issue 44
111-22-11	New	V. 43, Issue 36	112-201-3	New (T)	V. 42, Issue 44	112-203-3	New (T)	V. 42, Issue 44
111-22-12	New	V. 43, Issue 36	112-201-4	New (T)	V. 42, Issue 44	112-203-4	New (T)	V. 42, Issue 44
111-22-13	New	V. 43, Issue 36	112-201-5	New (T)	V. 42, Issue 44	112-203-5	New (T)	V. 42, Issue 44
111-23-1	New	V. 43, Issue 36	112-201-6	New (T)	V. 42, Issue 44	112-203-6	New (T)	V. 42, Issue 44
111-23-2	New	V. 43, Issue 36	112-201-7	New (T)	V. 42, Issue 44	112-203-7	New (T)	V. 42, Issue 44
111-23-3	New	V. 43, Issue 36	112-201-8	New (T)	V. 42, Issue 44	112-203-8	New (T)	V. 42, Issue 44
111-23-4	New	V. 43, Issue 36	112-201-9	New (T)	V. 42, Issue 44	112-204-1	New (T)	V. 42, Issue 44
111-23-5	New	V. 43, Issue 45	112-201-10	New (T)	V. 42, Issue 44	112-204-2	New (T)	V. 42, Issue 44
111-23-6	New	V. 43, Issue 45	112-201-11	New (T)	V. 42, Issue 44	112-204-3	New (T)	V. 42, Issue 44
111-23-7	New	V. 43, Issue 45	112-201-12	New (T)	V. 42, Issue 44	112-204-4	New (T)	V. 42, Issue 44
111-23-8	New	V. 43, Issue 45	112-201-13	New (T)	V. 42, Issue 44	112-204-5	New (T)	V. 42, Issue 44
111-301-4	Amended	V. 43, Issue 45	112-201-14	New (T)	V. 42, Issue 44	112-204-6	New (T)	V. 42, Issue 44
111-301-5	Amended	V. 43, Issue 45	112-201-15	New (T)	V. 42, Issue 44	112-204-7	New (T)	V. 42, Issue 44
				1 9			. ,	

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594